Estate and Gift Taxation - Gans


· Federal Estate and Gift taxes

· Might be repealed sometimes soon

· They tried to repeal it in 2001 but it worked out that it is repealed only for the year 2010.  If you die in 2011, you still pay the tax. 

· May be limited in its application (more probable)

· What’s this system about?

· 3 different types of taxes: “Transfer Tax” system

· Estate tax

· Tax on the transfer of wealth at death.

· This is a testamentary transfer

· Look at the assets owned at death, and calculate using tax rate.

· Reasons for having the Estate Tax:

· It performs the function of raising revenue (but this can not be the only reason to have a tax) 

· Estate tax doesn’t raise a lot of revenue- its less than 2% of the total revenue that the Govt. generates.  However, in absolute dollars, it does generate a lot of money, and repealing it would cause much revenue to be lost.  

· At the time Bush wanted to repeal the estate tax at a time when the country was in a surplus.  

· It’s harder to repeal the estate tax when the country is in a deficit b/c it will lead to lesser revenue that the govt. collects.

· A remedy may be to expand the tax so that it applies to more people but lower the taxes.  – but as a practical matter, its not going to happen.  Right now, the maximum rate in the estate tax is 48%.  Under current law, it should go down to 45% by 2009.  

· Psychologically, if you make the tax over 50%, people will wont to repeal it b/c they will think its unfair that if you die, the govt. takes more than your beneficiaries do.  

· Remember, there is a federal estate tax, and state estate tax.  Florida has no state estate tax but New York does have a state estate tax.  This could mean that wealthy people may be moving to states like Florida, making NY losing even more revenue cause then wealthy people are not paying income taxes in NY.  In a state like NY, you can practically be paying about 60% in total estate taxes.   

· Look at: IR-Code 2010.  

· Look at Chap. 11: Estate tax –IR-Code 2000

· Look at Chap. 12: Gift tax- IR-Code starts with 25

· Problem: A made a taxable gift of $1.5 million in 2004.  Then, he dies in 2008.  Look at code § 2001.  Estate tax exemption in 2010.  Also look at § 2501, § 2502.  And § 2505, which is the gift tax exemption.

· 2nd Justification for the Estate Tax: To break up concentrated wealth.  (This is also a week justification.  

· People who argue this say that there is too much concentrated wealth at the top, and not distributed smoothly.  

· Should wealthy people be able to pile up wealth, or should we use a tax to break up massive amount of concentrated wealth.  

· Do we (US) have a concentrated wealth?  

· Yes, but some say that the estate tax hasn’t worked b/c we now have more concentrated wealth.  However, if we didn’t have the estate tax, there would be even a greater amount of concentrated wealth.  

· Why is a concentration of wealth a bad thing?  Why does it need to be addressed?  

· Don’t like the idea of living in a society where there is a concentration of wealth.  Moral and fairness argument.  You shouldn’t have a head start just cause your last name is Gates or Rockefeller.  

· Brightest and best should be running business.  Not the people who happen to be born into a rich family.  (Ex. When Gates dies, we want the best person to run the business, not Gates kids who are incompetent).  Efficiency argument. 

· Distributing the wealth could have an impact on increasing life expectancy.  If we can get the capital distributed evenly, more people will have better healthcare and would live longer. 

· If we break up the wealth, we would get more education and training for people at the bottom end.  They would have more education- and economy as a whole would function more efficiently.  

· The impact of wealth on democratic values- they are able to get access to politicians, get favors from Congressmen.   

· 3rd Justification: (Most Compelling)- Estate tax is justified on the ground that our tax system should be progressive, and the estate tax adds an element of progression.  The income tax is suppose to be progressive, but the estate tax add a bit of progression so that the income tax looks even more progressive.

· Progression: People should be required to pay a higher rate of tax when they have a greater or enhanced ability to contribute for the cost of Govt.  

· Economists have a theory: Declining marginal utility of a dollar.  Ex: We have 2 people.  X is very wealthy and Y is poor.  If G has a dollar, and has to give it to someone, he has to decide how useful will the dollar be in the hands of a wealthy person and then in the hands of the poor person.  This theory says that as you get wealthy, the additional dollar’s value declines.  The person who is poor will gain more from the dollar.  To maximize the utility of the dollar, G should give it to Y (poor man).  

· Estate tax adds to progression.  Estate tax targets only wealthy people.  Estate tax is a way to go after wealthy people.  They are required to contribute more towards the Govt. b/c of their enhanced ability to do so.  The idea is that everyone pays income tax, but we should also tax the highest of the highest people.  

· Gift tax

· Tax on the transfer of money by inter-vivos gift.  

· There is a counter intuitive aspect of this tax: you are giving, but you are being taxed for it

· Why do we want a gift tax?

· Because we have an Estate tax, leads into our decision to have a gift tax.  (Federal Level)

· If you have an estate tax, and no gift tax, the estate tax will lack integrity- it will be too easy to avoid.  

· Bush in 2001 wanted to repeal the gift tax, the estate tax and the generation tax.  EGTRRA 2001 – Economic Growth, Tax and Recovery and Reconciliation Act.

· The tax continues until 2009, stops in 2010, and continues again in 2011.  

· Why?

· The hope for the republicans is the if the tax is repealed in 2010, it would create a momentum to having it repealed forever.  People will not want the tax back.

· 2010 is going to be a “repeal model”.  People dying in that year will have no estate tax, but will still have a gift tax. 

· Therefore, in 2010, you will be telling clients to try not to make gifts.  

· Instead, you might be able to loan the money.  IRS has its position on this issue.  (Rev. Rule 72-299).

· The gift tax is also designed to protect the integrity of the income tax.

· If X has a lot of money, and is in the highest income bracket, and if X has a child that is in the 15% tax bracket, then X might make a gift to the child and have it taxed to a 15%.  

· If you take out the estate tax and gift tax, people start playing games w/ income tax and start making gifts to people in the lower income tax bracket.  It would cause much revenue to be lost.  Bush’s plan sucked.  

· Each State might have a estate tax in addition to the federal estate tax. 

· In Florida, there is no Estate or Gift tax

· In NY, there is no Gift tax, only a estate tax

· People can make intervivos transfers in their death bed and get out of the NY State estate tax

· Generation Skipping tax (GST)

· Driven purely by the estate tax.  Estate tax creates the need for this generation skipping tax.  

· HYPO: X dies and had $5mill.  At X’s death, that $5 mill is subject to estate tax and passes the remainder to Y.  Years later, Y dies, and he gives a tax on what ever is in his estate, and passes it on to his kids.  

· This is a tax on every generation.  Every time the money moves, there is a tax.  Lawyers found a loophole.  Instead of X giving his money to Y, he’ll give it to his grand child.  Now the tax is only imposed once, not twice, thereby saving the family a significant amount of tax.  

· Clients that are super wealthy would be good for this advice.  To skip a generation.  

· Generation Skipping Trust:

· Take the $5 mill, put it into a trust.  And say that if my son needs money for something, my trustee will have discretion to give it to him.  So now, the grandchild is getting the money in a trust, but the son will have access to it. 

· You can further say that if my son dies, give everything to my grandson.  

· Why is this, a generation skipping trust?  We skipped the son’s generation.  We gave the money to the grandson, but the son still has access to the fund.  We are skipping the estate tax for his generation.  When the son dies, the money in the trust is not included in his estate. 

· Its not viewed as if he made a transfer at his death.  He is looked as a passive transferor.  He didn’t really transfer any of his own wealth.  

· Congress in 1986: With respect to newly created trusts, they will impose a GST when the son dies.  The trust will have to pay this tax.  They didn’t want people skipping tax.  Now, the Generation Skipping Trust no longer works.  

· If X dies, and gives his $5mill to his grandson directly, X will have to pay both an estate tax and a generation skipping tax.  

· But now, the tax is so expensive, that it starts to be unfair.  

· If you get rid of the estate tax, you don’t need the GST.   
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· Gans mentioned that Sen. Kerry is proposing an Estate Tax exemption of $4 million per couple

· Under current law, we will get to this level in 2006

· Kerry also adds an interesting provision to his proposal

· He wants to create a $10 million exemption for closely held business or farm

· What makes this interesting is that if you sell a business or farm worth $10 million and reinvest the money and then die, you would only be covered by the $4 million exemption

· If you die owning the business or farm, you would be covered by the whole $10 million exemption

· Gans thinks that this is inequitable

· Two families that both have $10 million would be treated differently depending on if they made their money investing in the stock market vs making their money in a family business

The above proposals are driven by the political climate of the Presidential election and Kerry is trying to take away from President Bush’s proposal to completely eliminate the Estate Tax

· Question

· Why do politicians try to cater to such a small group of small business / farm owners?

· Answer

· There are a lot of people who aspire to the wealth of owning a small business / farm

· It allows people to fantasize that if they would start a business, they then could pass the business on to their own kids

· The Estate Tax seems contrary to the notion of getting people to start a business that they could pass along to their kids

The Estate Tax is an anxiety producing event and that may be another reason why some people would like to see the Estate Tax repealed.
What is the reason for having the Estate Tax?

Can not justify the Estate Tax as a revenue raiser since it does not really raise that much revenue

Helps break up the concentration of wealth in society


Should we want to do this?


Estate Tax has not worked very well in breaking up concentrated wealth over all these past years

3rd justification – most important


The Estate Tax could be justified in that it adds progression to our tax system


It supplements that Income Tax


It makes the tax system as a whole more progressive

Tax Law – distributing the cost of government over society

If you like progression, you would favor the Estate Tax

If you do not like progression, you would not favor the Estate Tax

Progression and Income Tax

· Concept – BASIS

· I buy an asset for $50

· Basis essentially means cost

· If at some point, the asset is sold for $100, the question is how much income have I had for income tax purposes

· Income = Sales Price – Basis

· In this case, income is $50

· I buy gift for $50 and give it to daughter

· Daughter sells it for $100

· What is daughter’s cost?

· Code Sec 1015 – says that if I give intervivos gift to daughter, she takes over my (father’s) basis

· In this case, she has a gain of $50

· The rule makes sense to prevent people from avoiding the income tax by gifting away assets

· I buy gift for $50 and then die, and bequeath the gift to daughter

· In a testamentary gift, daughter has a basis of the fair market value of the asset on the death of father’s death

· In this case, if the gift was worth $100 at time of death, then the daughter’s basis is $100

· This rule is in Code Sec 1014

How does this 1014 / 1015 distinction play out in the progression of taxes?

There are a lot of wealthy people out there due to the appreciation of assets – stocks, bonds, business, houses, etc.

Hypo

Two people

#1 – earns a salary – works hard and earns money

#2 – makes money thru investments (earning money through appreciation of assets)


This group is not taxed until the assets are sold and then tax is imposed at that time

Advice to client (for above hypo)

1. do not make an intervivos gift

2. do not sell the asset

3. hold asset until death to take advantage of the tax system

a. If you sell it, you will pay the income tax on the gain

b. At death, the gain evaporates and the s

Two reasons why people will ignore your (attorney’s) advice and suffer the tax consequences

Psychological reasons – people just want to sell the asset


Afraid to keep assets, in case it does down in value

Gans’ point – thinks that Estate Tax is antithetical to progression

Investors tend to be wealthy people not poor people

The income tax system needs to be addressed since it is somewhat regressive


People who make money thru investments pay less taxes than those who earn a salary


Investment can appreciate outside the income tax system

With the Estate Tax, the government is trying to get a piece of the asset at death

· How does the GIFT tax and ESTATE tax work:

· Suppose someone makes a gift in the year 2004 of $1,511,000 to your kids. (Remember, if you give a gift to your spouse, its tax free, there is not gift or estate tax).  § 2501- (Chap. 12) [everything in the 25—is the gift law section] tax is imposed on the transfer of property by gift
· § 2501: we are dealing w/ transfer of property by gift- intervivos.  It also uses the word “individual.”  By virtue of this section (2501), it is only imposed on individuals.  

· If you have a corporation, it does not pay a gift tax, b/c it is not subject to an estate tax.  Remember, the gift tax is made so that people don’t find a way out of the estate tax.  Under § 2511, they say that if the gift is made in the corporation, then they look at is as if it was made by ‘individual’ shareholders.  This was done to stop people from manipulating the system.  Don’t want people to give gifts to children through corporation to escape the gift tax- thereby escaping the estate tax. 

· § 2502 imposes a tax on “TAXABLE GIFTS”.  What is that?  To determine what it is, look at § 2503.   § 2503A states that Taxable gifts is the: Total amount of gifts made in a calendar year less the deductions made during that year.  ( § 2503B Annual Exclusion: (very important) in determining the amount of taxable gifts, you can exclude $11,000.  The annual exclusion is a per donor/ per donee exclusion.  [Donor- A can give $11k to his daughter, and there will be no gift on that- the taxable gift would be zero.  Now, suppose A gives to each of his 2 daughters $11k, both 11k is not a taxable gift b/c its per donor/donee].  You can give 11k to as many people as you want, and there will be no taxable gift.  This is allowed each year.  As long as you don’t give more than $11k / person /yr, you wont have a gift tax.    

· Your wife is also permitted to give $11k to anyone she wants.  Therefore, a married couple could give anyone they want $22k without incurring a gift tax penalty.  (Per donor/ per donee).  § 2513 “GIFT SPLITTING” says that if A wants to give a gift of $22k, why would you want to make his wife go thru this; why cant he do it himself?  If I make a gift to anyone in the sum of $22k, then $11k is gift tax free.  When A files his taxes, he can, w/ virtue of § 2513 can say that the two split the gift.   The good thing is, that A’s wife would not have to get involved.  A could do everything, just needs permission from his wife.  

· There are 2 separate issues w/ respect to gift: 1) Has the donor made a taxable gift and does he have a gift tax to pay?  2) What about the donee, (b/c they received that gift) do they have income for income tax purposes?  Is that gift included in the income tax calculations?  

· The $11k rule has NOTHING to do with the income tax.  (Keep the income tax and gift tax separate in your mind).  § 102: Income tax § of the code that deals w/ gifts: the donee of the gifts does not have to pay income tax.  There is no $11k rule.  If you get a gift as a donee, you don’t have to include it as an income.  You can get $1mill by gift, and you don’t have to include it in your income- WHY? b/c your taxing the donee for making a gift of $1mill - $11k.  

· There is a famous case in the SC- it deals w/ what constitutes a gift under § 102.  If there is a gift made out for business purposes, then the donee will have to pay an income tax.  The jury had to decide what the motivation is to give the gift- is it business or love and affection motivated?  If its business, then the donee will have to pay income tax on it.  (Don’t need to know stuff like this for the exam cause it deals w/ income tax and not gift and/or estate tax).  

· For example: Gans has 2 children and both are married and both have some children.  Gans has 2 kids, and 4 granchildren. That makes 8 people in his family.  Gans can make (assuming his wife consents under § 2513) a gift of $22k for 8 people.  He can make a gift tax of $176k that year w/o getting incurring gift tax.  He can do this every year.  If you do this for 10 years, you remove $1.76 million out of estate tax, and gave it to your relatives w/o incurring gift or estate tax.  This is a estate planning tool.  

· First question to ask your client: Have you been utilizing your annual exclusion?   Once Jan 1st comes around, you lose prior years annual exclusion.  (Use it or lose it).  

· A lot of clients will not follow this advice.  WHY?  Horizon perspective.  A lot of people will never do it is b/c of “lost control.”  They feel that giving that much money now will make them lose control of their money- if their income goes down, they may not be able to get money back.  

· Whenever you find new ways to help clients to save taxes, it will likely involve the client to lose his control over their money.

9/22/04

ANNUAL EXCLUSION- making gift of 11k/year /donee-doner is excluded from taxable income.    

· Use of an annual exclusion in a death bed setting:

· Is there any tax planning that can be done w/ an individual’s love one is seriously ill?

· Are there anythings that they can do to save taxes?  “Death-bed planning” by Gans.  

· Annual Exclusion: Ask client if they have utilized their annual exclusion for the year?  If they haven’t, than you would want to give 11k to all the people you can give it to.  If there are 10 people in the family that you would want to give a gift to.  Now, 110k worth of taxes have been taken out of the estate.  Can you utilize the annual exclusion even on your death bed?  

· How do make the gift complete?  If you make a check out, when is that gift complete?  When has this transaction gone through the point of no return?  When has the donor given up his right to the money?  

· There is no consideration- it’s a gift.  It can be revoked at anytime.  [Rosano case- 2001WL336835 (it’s a death bed tax situation case)]

· When you give a check, you are promising to make a gift of that money.

· Exception: If you relied on the promise to your detriment, than, the promise may be enforceable.  

· The promise can be revoked at anytime UNTIL the gift is given.  Elements for a valid gift: 1) there must be intent to make a gift; 2) you have to deliver the gift; 3) She has to accept the gift.  If these 3 elements are present, even though there is no consideration, it’s a valid gift and the donor cannot change his mind.  

· When the gift is cashed, it’s the power of the donor to change his mind ceases.  

· Or certified- the bank is saying that the money is now yours, the person cannot stop payment on it. 

· Ex: Person makes out a check, and dies.  Few days after the person dies, the donee comes to cash in the check.  Gift is not complete and that money will not be excluded from the estate tax.  In this case, the gift is not complete b/c the executor could still stop payment on the check.  The executor can actually go after the money and retain it for the estate.  

· Logic: until the decedent dies, he has the ability to call the bank and stop payment on the check.  When the decedent dies, the executor has the power to stop payment on the check.  

· An executor owes a fiduciary duty to the decedent to optimize his estate.  

· In the Regulation, they talk about the timing of the gift.  It’s important to know the time and date of the gift.  Why is date important?  Non-cash gift valuation.  On different days, non-cash assets have different assets.  Ex: Stocks.  We need to know what year it falls in.  WHY?  B/c we need to make sure that the 11k was only in one year and donor has not given more than 11k / year.  

· § 2511-2: When does the donor ceases to have control of the gift under state law?  

· Reason why regulation is sending us to state law is b/c property law is state law.  Congress doenst have the right to decide on property law. 

· “Cesation and dominion of control”  -when does the donors dominion and control for the item cease?  When this occurs, the donor loses his ability to recall the gift.  

· IF the check clears or the check is certified, then the gift is out of the decedents estate.  IF the check doesn’t clear, then the gift is not out of the decedents estate.  

· Your biggest concern as a lawyer is hoping that the check clears.  The person cannot die before the check is cleared.  (Get it cleared or certified ASAP).  

· HYPO: Gans has new years dinner w/ his daughter.  He makes out a check and gives it to his daughter.  His daughter goes home.  On Jan 1st, she goes to the bank, and deposits the check.  

· This is an ’05 gift b/c she fails the “safe harbor” rule b/c she didn’t deposit it by December 31st.  

· Reason: They don’t want people waking up on Jan 1st and making out a check and dating it for the night before knowing they have missed the December 31st cut off date.

· HYPO: What happens if Gans gives his daughter the check, she goes out and deposits it in the bank, and he dies tonight b/f the check clears?  

· No good.    

· If this is the purpose of the exclusion, is $11k an appropriate amount?  One answer is that the exclusion was pushed up this high b/c of the animosity towards taxes.  

· At the time Reagan wanted to repeal the gift tax, the annual exclusion was $3k.  They didn’t repeal the tax, however, they pumped up the exclusion to $10k.  Now, they increase it depending on inflation rate.  

· To what extent is the exclusion amount driven by a concern about permitting tax payers to provide support for others?  

· HYPO: Gans daughter is in law school.  Gans provides her w/ some money- tuition, cost of living, etc.  Is he making taxable gifts to her?

· Is this type of wealth transfer a taxable gift?  The code does not address this question.  

· ( Dickman case: They get into this question briefly.  They say that if the tax payer has a legal obligation under state law to support someone, and you are discharging that obligation, you haven’t made a taxable gift.  If you have a legal obligation to support, then its not a taxable gift.  

· Gans: He thinks the gift tax is imposed on a voluntary act.  The only places that this comes from is Harris and a tax court decision DiMarco where it states that the gift has to be a voluntary act. 

· Soul obligation that a person has to support another is their minor children.  

· If Gans provides support for his mother or his daughter who is in graduate school, he is making a taxable gift.  

· Some don’t like this b/c they feel that it shouldn’t be subject to tax, however, it is.  

· In § 2501 of the code: the tax is imposed on the transfer of property by gift.  In Dickman: they ask: what if He allows his daughter to use a summer house in the Hamptons for the whole summer w/o charge.  Is that a taxable gift?  Is this a transfer of property?  He didn’t give his daughter the title, however, use of property w/ charge is a taxable gift b/c it was a transfer of property by gift.  

· If Gans allows her to use his home and car- we don’t know b/c the Dickman court didn’t answer the question.  

· If Gans pays for his adult daughter- her expenses such as grad school, etc., it’s a taxable gift.   

· HYPO: Gans has 18 million of ssets in the bank.  He is earnging $900k in interest.  If Gans lends $18million to his daughter w/o the interest, she can put it in the bank and get $900,000/year in interest.  Now, they have transferred $900k w/o giving a gift.  Dickman case ended this.  Court says that transferring money w/o charging interest is a transfer of property and thus is a taxable gift.  

· After the Dickman decision, Congress codified the decision into law.  
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· HYPO: Person gives $1.511 mill. dollars as gift.

· Assume before the tax payer did anything, the tax payer had $2,721,000 in wealth.  In 2004, the tax payer makes a gift of $1,511,000 (from last week)

· If you make a gift above the annual exclusion, you still get the annual exclusion.  For example, the person giving $1.511 mill will still get the $11,000 of exclusion.  

· The real essence of this problem is what “Unification” is about and what are the estate planning loopholes that “Unification” left in its wake.  

· UNIFICATION: unify the estate and gift tax system.  Before, they were not connected.  One aspect of the disconnect was that they had separate tax level schedule, the gift tax being less than the estate tax.  This allowed people to give gifts so that they could escape estate tax.  Now, they have the same rate schedule. 

· When you take $1.5 million, (that’s the amount of $ that will be taxed b/c the $11k is subject to exclusion, the gift tax comes to $551,800.  Remember, this is a “block” system- every level is taxed differently, progressive tax system.  

· Unified Credit: “Credit” – what is it? Credit is taken after you have already calculated your tax, ie after you apply the tax rate.  On the other hand, a deduction is taken before the tax has been calculated.  

· A credit is more valuable than a deduction.  WHY?  For example, Gans has income of $500.  Lets say the income tax is a flat 50%.  Lets say a deduction of $100 was given.  A deduction of $100 will give you $400 of taxable income.   Therefore, your tax will be $200.  

· A Credit on the other hand works like this: $500 of income.  Apply the rate of tax of %50 and you get a tax of $250.  And now, you get your credit, coming off at the end.  $100 credit will result in you paying only $150.  

· In a deduction, we paid $200, and in a credit, we paid $150.  

· The tax savings produced by a deduction are equal to the product of the amount of the deduction multiplied by your marginal tax rate.  

· In a Credit, the savings amounted to $100.  In a Deduction, the savings amounted to $50.  Therefore, the $100 in credit saved is $50 earned.  

· In a progressive context, (instead of a flat tax system like our hypo above), the deduction must be multiplied by the marginal rate of tax (your tax bracket at the top) to get the tax savings produced.  For example, lets say the lowest bracket is taxed at 10% and the highest bracket on the top is taxed at 40%.  The marginal tax rate is the highest tax rate.  Therefore, lets say that the progressive tax rate is:

· 60%
100$

· 50%
100

· 40
100

· 30
100

· 20
100

· 10
100

· SO, from our example before, for a $500 income, in a progressive world, a deduction only applies to the top tax rate.  This will save you $50 ($100 x 50%).  Because instead of paying $150, you will be paying $100 (after the $100 deduction).  Now you will have to pay on the 1st $400.  For a credit, you would subtract the $100 after you pay the taxes.  So, in the progressive example, you would pay $150, but after you apply the credit of $100, you will only pay $50, thereby saving you $50.  

· § 2010 (estate tax §) – the estate tax works after the $1.5 million level.  

· In 2001, EGTRRA separated out the exemption concept.  In estate tax- its $15 million and the gift tax exemption is $1million.  

· The Unified Credit (§ 2505)

· You are entitled to a unified credit of $345,800 under § 2505.  This is the amount you would have to pay on a progressive tax rate for a $1million gift – which is the tax exemption.  Therefore, the credit for the gift tax is $345,800.

· Therefore, you get $555,800 - $345,800= $210,000. 

· Back to our clients: They walked in the office w/ $2,721,000.  They made a gift of $1,511,000 and now they have $1,210,000 in the bank account.  The gift tax totaled $210,000 (this number is not made up, it was calculated above).  Now they are left w/ $1,000,000.  

· What we want to do is take the taxable estate ($1,000,000) [assuming that there are no deductions to keep this simple, Remember that gross estate - deductions = taxable estate],  Take that $1,000,000 and add your “adjusted taxable gift” (from § 2001(b)).  

· The term “adjusted taxable gift” means all Taxable Gifts made after December 31, 1976.  Take all your post ’76 gifts and add them to your taxable estate.  You are taking all the gifts taken during the decedents life time and “pour them into a measuring cup along w/ the decedents estate.”  The word “adjusted” is used b/c we want to keep out of this “cup” all gifts made b/f Dec. 31, 1976.  The objective of the ’76 law was to eliminate advantages of making intervivos gifts.    

· Lets say a client make a gift in ’77, he is affected by it.  They have to add that gift into the taxable estate.  

· It seems harsh that a person who made a gift 28 years ago has to pay taxes on it.  Also, how come the adjusted taxable gift is added to the estate tax when this tax was already paid, why are they forced to pay tax twice.  This is very counter-intuitive.  

· If we are looking for people w/ wealth to pay the gift and estate tax, why do we have an exclusion for just $11,000?  B/c we don’t want people to have to keep track of minimal gifts.  If it wasn’t for this, then for a gift of even $10, you would have to pay taxes on it.  

· Now, (back to the HYPO): take the exclusion of $1,000,000 and add the “adjusted taxable gift” which was $1.5 mill.  This equals a total of $2.5 mill for estate tax purposes.  The tax you pay on this will be $1,005,800.  

· On a $1.5 million transfer, the tax rate (from the tax schedule) is $555,800.  Anything over $1.5 mill is taxed at 45%.  So, in this case, we have $2.5million which is 1 million above the $1.5.  The $1 million is going to be taxed at 45%- $450,000.  When you add: $555,800 + $450,000= $1,005,800.  

· § 2001(b) says that you can now get a credit for the gift tax you have already paid.  So, if you paid $210,000 already, you owe ($1,005,800 - $210,000) = $ 795,800.  AFTER THIS, you get the UNIFIED CREDIT- under § 2010, the credit is $780,800.  (This is the exact tax on $2million dollars- which is going to be the estate tax for year 2008.)   The taxable estate is $15,000.    [For gift tax purposes, the exemption is $1mill, and the unified credit is $345,800 and remains permanently.  The estate tax however will be exempt in 2009.  The estate tax exemption in 2009 is $3.5, in 2010, there is no exemption b/c there is no tax.  In 2011, the estate tax comes back and the exemption is only $1million.  

· Why did they put the adjustable taxable gift in the equation, and then give a credit at the end for the taxes paid?  

· ANSWER: Even if we unify the rate schedule, we will continue to have problems, we have to do more.  The problem is that if we only have one rate schedule and do nothing further, lawyers will still be advising their clients to make gifts.  People would continue to make gifts because then you will have “2 separate containers” to tax on the progressive tax rate.  Lets say that you have $5mill in your estate.  The reason why you would want to give a gift of lets say: $2.5 million dollars is because now, you have 2 “containers” where you are taxed.  You will get 2 trips through the taxing schedule- 2 times at the lower rates going up to the higher rates.  And this doesn’t seem fair.  Whether a person transferring money all at once, or one that divides it should be taxed equivalently.  If the person who divides the transfers, should not get a lower tax rate thus being treated differently.  They want to create a system that would tax a person who makes an intervivos gift as if they didn’t make the gift and retained it in their estate.  This is KEY to the Unification system.  § 2001 achieve this concern. The first thing you have to do when you meet a client is to ask for their gift tax return.  

· Now, we take that $1.5 mill gift, and add the taxable estate, and tax like they never made the gift.  The gift tax is like an estimated estate tax.  The gift tax has become a type of “down payment” for the estate tax.      

· Are we getting two unified credits?  One when we paid the gift tax and the other when we paid the estate tax?

· 10/13/04
· How do we avoid double taxation?  You give a credit on your estate tax against the gift tax that you paid.  

· Gift tax “is sort of an estimated estate tax.” –MG

· How can you avoid the gift tax?

· You might come w/in the annual exclusion.

· What if you go over the annual exclusion?

· The unified credit might cover you.  If your taxable gift is a million or less, you will likely find that the unified credit will cover your gifts.  

· Gans: think of the Gift tax as an estimated estate tax.  

· How many unified credit do you get?  2

· § 2505 gives us a unified credit for gift tax purposes.  So when you compute your gift tax, you are entitled to take a unified credit under § 2505.  (Remember, “25” §’s are gift?? tax §’s)

· The reason why the estate tax exemption keeps moving up is b/c the Rep. wanted to get the estate tax repealed, but couldn’t.  So, they instead wanted to create a momentum where this exemption is hard to bring back.  They assume that a future Congress or future President does something w/ this issue.  

· ARE WE GETTING TWO UNIFIED CREDITS? 

· It appears that you get it twice- once when you calculate the gift tax (§ 2505) and then we get it again when we calculate the estate tax (§ 2010)

· In reality, you are only getting the credit once, NOT twice.  

· EX: Lets say a client comes into an office and says that there is a unified credit for gift tax purposes. Can he be exempt for $1mill, for gift tax purposes?  YES.  Suppose the client dies in 2004, does his estate also have a tax exemption of $1.5million after making the $1mill exemption for gift tax purposes?  NO.  When you make the $1mill gift, you do not pay any gift tax, then you die, and you have $1mill in your “container” (from the gifts that you made) and your estate is valued at $1.5 mill for a total of $2.5 mill in your “container”.  On the $1mill gift- the tax is $345,800, and the unified credit is $345,800, therefore, there is no tax paid on the $1 million gift.  The unified credit on the $1.5 million estate is $555,800.  Subtracting that from $1,005,800 (which is the tax you pay on the $2.5 mill which is the total of estate value and the value of gifts made) will give you your estate tax of $450,000.  This is the amount of estate tax the client has to pay.    [This is an important concept- understand!]

· If the estate tax unified credit is higher than the gift tax uinified credit, how can you say that the estate tax and the gift tax is the “same” due to the fact that they are taxed equivalently?  Why doesn’t the unified credit for estate tax equal the gift tax unified credit?  GANS feels that it should.  Bush is messing it up b/c of his EGGTRA act.  B/f the act, both were equal.  

· HYPO: Client makes gift in 2004 to his daughter $1million.  Lets assume that’s the taxable gift.  This is the first time the client made a gift.  The gift tax on a $1mill is ZERO b/c the amount of tax on a million is also equal to the unified credit for the gift.  Therefore, the check made out to the IRS is ZERO!  Next year, the client comes back, wants to make another gift to his daughter.  Another $1million.  Is the tax going to be zero again?  NO, he is not going to get another exemption, b/c that unified credit for gift tax purposes is only given ONCE.  When you use the unified credit, you lose it.  [My question, can the client hold off on the unified credit and take it all at once at the end?]  The GIFT TAX EXEMPTION IS ONLY FOR $1 MILLION at $345,800.  (This is b/c of Gans article).  The gift tax is paid as you go.  Its not paid all at once.  

· Therefore, this client, that wants to give another $1million in 2005, how do u calculate the gift tax?  You have to ask for all prior gift tax return.  Then, you have to assume that he was the die w/ a “measuring cup” of $2million and an exemption (unified credit) of $345,800.  The tax you would pay on the $2 million is $780,800 (according to § 2001), and you get the tax that the client has to pay is $780,800 - $345,800.  Therefore, the tax will be $435,000.  (Remember, you are not getting the unified credit again, you are taking the total gifts made, and subtract the constant unified credit.)  The unified credit is a life long thing, you only get it once.  

· Suppose you only make one gift of $1mill in your life.  You will pay no gift tax b/c the unified credit for gift tax purposes will exempt it.  Now, when you die, you will take that $1mill, and merge it w/ your taxable estate, and then apply the unified credit for estate tax purposes (as said in § 2010).  Applying this, you will get the amount of tax you will pay.  

· Question for next week: Did Congress accomplish their objective that they wished to achieve when making the ’76 Act?  Also, basic strategies for clients.  

· 10.20.2004- Guest Speaker: Bill Lockwood—Appraiser for Estate: 2 handouts given out

· Remember, IRS wants you to value your assets as high as possible—results in more taxes.  

TIMING ISSUES – TEXTBOOK OUTLINE

(FMV-fair market value; PP-purchase price)

1) Unit 1A – Intro – Annual Accounting
a) Tax Accounting Methods p.787-91
i) Taxable year – either a calendar year (ends on Dec. 31) or a fiscal year (e.g. July 1 to June 30)
(1) Function of tax accounting methods is to make allocation of various items involved in computation of taxable income to an annual period
ii) Taxpayer’s method – depends on what is regularly employed in his business or personal record keeping that “clearly reflects income” [IRC § 446(b)]
iii) 2 principal methods of accounting for income – inclusion or deduction

(1) Cash method – most individuals, small proprietorships and partnerships, small corporations
(a) E.g. cash receipts and disbursements
(b) Includable as income when received (e.g. salary, wages, Tenant’s rent, interest on savings account)
(c) Expenses – deductible when paid (state/local taxes, union dues, home mortgage interest)
(d) Actual receipt of income and payment of expenses linked together for income during that year
(2) Accrual method – few individuals, many partnerships, most corporations
(a) If corp has > $5 million/year of gross receipts → must use accrual method [IRC § 448]
(b) Includible (in gross income) – in year when there is a right to payment
(i) Item accrued when there is an unconditional right to receive item
1. Issues – must title pass; escrowed; uncertain amount; contested claim of right; subscription paid in advance
(c) Deduction – subtracted in year when obligation to pay expense arises
(i) Expense accrued when its amount could be determined with reasonable accuracy & there was an unconditional liability to pay the expense
1. Issues – ultimate payment unlikely; probability of refunding payment
2. Prudent taxpayer sets up reserve account to cover future obligations and possible liabilities
(ii) § 461 – even if amount & existence of liability certain – expenses aren’t accrued as a deduction until “economic performance” has occurred 
(d) Income and expenses incurred in producing it linked together for income during that year
(e) Changing tax policies can force accountant’s method to change
b) Function of Tax Accounting – 
i) Timing issues under federal income tax laws

(1) Usually governed by general application of rules; e.g. casual sale of property
(a) i.e. doesn’t involve tax accounting provisions; not dependent upon taxpayer’s method of accounting
(b) Specific timing rule might control year of inclusion or deduction
(i) E.g. personal expense deductions and credits (charitable contributions, medical expenses, alimony, child care) – are only allowed when paid
(2) Balancing conflicting interests
(a) Timing rules – seek to ascertain point at which economic income arises
(i) Accrual is more accurate (matching items of income and expense)
(ii) Disadvantages of accrual – distorts income; Congressional response
1. Requires periodic valuations and allocates income to periods when cash may not be available to taxpayers (causes liquidity and collection problems)
2. Must take income and deduction items at discounted present value (not  the nominal amount)
(3) Similarity of goals of tax accounting rules and other timing provisions can produce similar results
(a) Cash method – prepaid expenditures disallowed as current deductions
(i) Must be capitalized under §263
(ii) Do not clearly reflect income
c) Changes in method of accounting or method of reporting income p.862-3
i) § 446 – if taxpayer changes accounting method, need Commissioner consent before compute income 
(1) orderly tax administration – so Commissioner must know of new method
(2) Commissioner has opportunity to determine if new method will clearly reflect income
(3) Notification give Commissioner opportunity to require adjustments in year of change (to prevent tax windfall for taxpayer)
(a) Problems of double deductions or eliminating deductions based on earlier figures
ii) Under § 481, adjustments used to be limited to statute of limitations
(1) Now: § 481 requires appropriate adjustments to be taken into account in year of the change to prevent amounts from being duplicated or omitted
d) Annual Accounting Concept p.866-81
i) Transactional Problems
(1) General Principles – annual accounting period generally treated as separate compartment; income & deductions of one year have no effect upon other periods [Sanford & Brooks
 overturned rule that required amending tax returns for earlier years]
(a) Strict annual accounting period concept – effect of transaction that affects ≥ 2 yrs
(i) E.g. incorrect computation of bonus causes portion to be repaid in other years 
(ii) E.g. taxpayer w/fluctuating income from separate transactions – causes progressive rates ( higher tax (v. income earned in more even pattern)
1. Ex: athlete has high earnings in beginning of career v. doctor’s earning
2. Ex: salesman has great year one year, then terrible next year
(2) Initial Deduction followed by later recovery: The Tax Benefit Doctrine IRC §111a-c; Regs 1.111-1a (1st ¶)
(a) Early case law: subsequent recovery of deducted item had to be included in income 
(i) Corollary: exception if prior deduction didn’t result in tax benefit to taxpayer
1. E.g. didn’t reduce taxable income b/c of presence of other deductions
(ii) Sometimes based on equitable principles
1. i.e. if reduce in prior year ( unfair not to tax if recover at later time
(iii) Sometimes based on analysis of the basis provisions
1. If tax benefit from prior deduction ( basis w/respect to that item would be reduced (i.e. recovery of item would be in gross income)
2. If no tax benefit ( taxpayer treated as having maintained a basis for the item (i.e. subsequent recovery not in excess of the basis was simply a return of capital)
(b) Section 111a adopts exclusionary view of tax benefit rule – provides exclusion from gross income for recovery of an amount previously deducted that didn’t reduce the tax owed in a prior year
(i) Hillsboro National Bank v. Commissioner 
1. Facts: bank puts uncertain tax in escrow, pays it back to SHs, but doesn’t amend return or include repaid amount in income in next year’s return
2. Taxpayers: rule requires inclusion of amounts recovered in later years, and don’t view theses events as “recoveries
3. Gov’t: rule requires inclusion of amounts previously deducted if later events are inconsistent w/deductions, and no “recovery” is necessary to apply rule
a. Further, events are inconsistent w/deductions taken by taxpayers
4. O’Connor’s holding: not in complete agreement w/either view
a. Purpose of rule: not simply to tax “recoveries”; approximate results produced by a tax system based on transactional (not annual) accounting
i. To “achieve rough transactional parity in tax… protect gov’t and taxpayers from adverse effects of reporting a transaction on basis of assumptions” which prove to be erroneous in a subsequent year
b. Must apply rule in case-by-case basis – ct must consider facts and circumstances of each case in light of the purpose and function of the provisions granting the deductions
c. Only if occurrence of event in earlier year would’ve resulted in disallowance of deduction can Commissioner require compensating recognition of income when event occurs in a later year
5. Steven’s holding (Marshall concurs):
a. Inconsistency was never by itself a sufficient reason to apply the rule
b. Finality and practicability > equitable
c. Court here, w/o legislation, is allowing a “more ambitious tax benefit rule”
6. Blackmun’s holding (dissent): correction should be made in earlier year w/o resort to apply rule b/c SOL had not run b/w events
(ii) The inclusionary aspect of the tax benefit rule
1. Hillsboro’s tax benefit test: requires subsequent “event” be analyzed in terms of impact it would have had on initially claimed deduction if it had taken place in the same taxable year in which deduction was claimed 
a. E.g. if would’ve resulted in deduction being disallowed in earlier year ( income inclusion is required in subsequent year
b. Concurring opinion required subsequent event to be a “recovery” for rule to apply
2. 2 tests usually produce same results – b/c inconsistent “event” is usually the recovery of previously taken deduction (e.g. subsequent payment on previously written-off bad debt)
a. Difference is consequential in cases b/w Corporations and SHs; e.g. Hillsboro; US v. Bliss Dairy – corp deducted cost of feed, subsequently distributed it to its SHs as part of liquidation. 
i. Majority held: tax benefit rule applies; distribution was inconsistent w/intended use (consumed as part of the trade/business)
ii. Dissent: not applied rule b/c distribution didn’t result in a “recovery”
3. When the inclusionary aspect of tax benefit applies – subsequent inclusion is mage at tax rates applicable to taxpayer in the year of the subsequent event (even if lower/higher than rate in year deduction was taken)
a. Rule roughly approximates results transaction would have had if both events had taken place in same year
4. Interaction w/Statute of Limitations
a. Canelo v. Commissioner – held recoveries of “loans” previously deducted inyears now closed by SOL were not income
i. Rule only applies when initial deduction was proper – Commissioner can’t increase a taxpayer’s income by amount of deduction taken improperly in a year now closed by SOL
b. Mayfair Minerals v. Commissioner – taxpayer’s disclosure of improper deductions on returns was misleading; even though SOL ran, rule applied to subsequent recoveries
i. Recovery is taxed b/c previously created a benefit; not b/c inherent characteristic of recovery is income/return of capital
ii. Erroneous deduction exception is poor public policy – “improper taken tax deductions should not be rewarded”
(iii) The exclusionary aspect of the tax benefit rule
1. Section 111a – used to only apply to recovery of previously deducted bad debts and taxes
a. 1984 amended – eliminate any limitations on its scope (although cts already treated it as such before this)
b. 111b added – apply rule to recover amts relating to items for which certain tax credits had previously been claimed
c. 111c – deduction is treated as having produced a reduction in tax in a prior year if that deduction increased a loss carryover that had not expired at the end of the taxable year in which the recovery occurred
i. this rule coupled w/expansion of period for carryforward/carryback of net operating losses – significantly diminished scope of exclusionary tax benefit rule as far as profit seeking deductions 
ii. still important w/itemized deductions for: personal living expenses, state/local income and property taxes
2. Status of later event – related to earlier transaction or separate transaction
a. Rev.Rul. 66-320 – subsequent sale was a separate transaction and gain was not attributable to the bad debt deducted w/o tax benefit in prior year
i. Same result even though stock received for the debt was donated to charity producing a separate charitable contribution deduction
ii. Insurance policy proceeds received in part payment for embezzlement loss that had been deducted w/o tax benefit – not subject to exclusion under the rule (acquisition of policy was a separate transaction
3. Issues raised by exclusionary, but not inclusionary aspect
a. Taxpayer was [income] tax-exempt in year of payment, but taxable in year of recovery [when unconstitutionally taken tax was refunded] 
i. CA & Hawaiian Sugar v. US (created no tax benefits; ct found refund nontaxable as a return of capital)
b. Deduction taken by a different entity
i. Ridge Realization Corp. v. Commissioner – claim due to fraudulent activities transferred to corp by a predecessor corp, corp pays taxes and is later partially refunded – created no tax benefits; Commissioner says taxable b/c §111 not applicable if separate entities for loss and recovery; Tax Ct avoided §111 issue & simply found payments were nontaxable as a return of capital; taxpayer treated as having same basis for its claim as amount of original loss
(iv) Initial inclusion in income followed by later repayment IRC § 1341
1. Taxpayer received funds & subsequently required to repay – taxpayer must include funds in income in year received (annual accounting concept)
2. § 1341 allows taxpayer either
a. deduct payment of an amount previously included in gross income under the appearance of an unrestricted right to the income; or
b. reduce tax liability for the year of repayment by the amount of the tax increase in the prior year attributable to receipt of the repaid amount
3. Policy of §1341 – adopt transactional approach for situations involving repayments of amounts originally required to be included in income under “claim of right” principles
4. Qualifying conditions – “appearance” or “unrestricted right”
a. §1341 deals w/situations where taxpayer “appeared” to have “unrestricted right” to an item of income that he is subsequently required to pay
b. Rev.Rul. 68-153, 1968-1 C.B. 371 distinguished 3 different situations where at the end of the year of inclusion the taxpayer had:
i. “unchallengeable” right to the item of income;
ii. a “semblance” of an unrestricted right; and 
iii. no right at all to the item 
c. Ruling held only 2nd category entitled to relief under § 1341
d. Service later ruled § 1341 inapplicable to repayments of excessive compensation where recipients were obligated under a prior agreement to repay any amounts that tax audit found  to be excessive 
i. b/c repayments occurred in subsequent year => more than appearance of unrestricted right → § 1341 relief unavailable
ii. Cts rejected this restrictive interpretation of § 1341 (Van Cleave v. US; Prince v. US)
e. Where its clear that taxpayer has “no right” to funds in year of receipt → § 1341 inapplicable to the repayment (Culley v. US – deduction for restitution of funds obtained by fraud not subject to § 1341 – even if appeared to defrauded parties at time they paid that taxpayer had unrestricted right to the funds)
5. Voluntary repayments – Cts have upheld Service view that voluntary repayments don’t qualify for election under §1341
a. Pike v. Commissioner – taxpayer failed to establish “probable validity of adverse claim to funds repaid”
b. Barrett v. Commissioner – taxpayer wasn’t required to contest repayment in order to obtain benefit of § 1341. Ct held repayment wasn’t voluntary, and as long as repayment was pursuant to a “bonafide, noncollusive, arm’s-length settlement” the requirement of §1341 that it be established that the taxpayer didn’t have a right to the prior receipt had been met
i. Ct distinguished Pike as involving a case in which the repayment wasn’t in settlement of a pending civil action
6. Relation of §1341 to deduction-granting provisions
a. Treas. Reg. §1.1341-1a1 – if taxpayer entitled to other provisions of Chap 1 of IRC of 1954 to a deduction b/c of repayment → current deduction may be available under §1341
b. US v. Skelly Oil Co. - § 1341 only grants deduction if allowable under some other provision of IRC
c. §1341 not necessarily applicable merely b/c a deduction is allowed for a payment of a disputed amount
i. Chernin v. US – deduction under §461f allowed b/c funds to pay a deductible expense have been put in escrow beyond taxpayer’s control – not sufficient to invoke §1341 relief b/c §1341a2 requires unrestricted right to income actually be repaid to original payor
2) Finish assignment 1A…..(887-8)

Assignment 1B – Cash Method p.795-804 § 446; 451a Regs §1.61-2d4; 1.446-1a3, c1i; 1.451-1a, -2
1) Income items – cash method doesn’t depend solely on amount of cash received
a) Cash received must first represent an item of income
i) E.g. loans or returns of capital – not includible as income
ii) Cash method taxpayer may have income w/o actual receipt of cash
(1) E.g. forgiveness of indebtedness – doesn’t involve current receipt of cash
b) 3 situations where cash method taxpayer’s income doesn’t depend on actual receipt of cash
i) Treas. Reg § 1.446-1c1i – income received in form of property or services, as well as cash should be included in income in taxable year when received
ii) Taxpayer’s equitable interest in an irrevocable trust (not entitled to receive money till subsequent year) – cts found currently taxable b/c of economic benefit conferred
iii) Constructive receipt – taxable income if credited to his account, set apart for him or otherwise available for him to draw upon at anytime
(1) w/o this regulation, taxpayer could determine year of income inclusion by failing to collect income due!
(2) Not constructive received if taxpayer’s control of its receipt is subject to substantial limitations or restrictions Treas. Reg. § 1.451-2a
(3) Much case law of when income is “made available” to taxpayer
(4) Doctrine determines when item must be taken into income
(a) Some cases doctrine affects whether an item is includable or excludable
iv) These 3 principles may result in realization of income by a cash method taxpayer prior to actual receipt of payment of cash – often all 3 principles are interrelated
v) E.g. taxpayer voluntarily postpones receipt of cash → constructive receipt may apply
(1) Even if CR inapplicable, right to payment itself may require current inclusion
c) Revenue Ruling 92-69
i) §61a defines “gross income” – all income from whatever source derived, including (but not limited to) compensation for services such as fees, commissions, fringe benefits and similar items
ii) §132a excludes from gross income any fringe benefit that qualifies as a “working condition fringe” (§132d defines as any property or services provided by ER to an EE where if EE paid for it, such payment would be allowable as a deduction under §162 (trade or business expenses) or §167 (depreciation)
(1) E.g. situation 1 (ER assists laid off EE’s w/outplacement services) – qualified as a tax-exempt fringe benefit under §132a3
iii) §451 – gross income must be reported in year received by TP
(1) Reg. §1.451-1a – cash receipts and disbursements method – when amount is actually or constructively received → includable in gross income
(a) §1.451-2a “constructively received” – when available to TP so could draw upon it at anytime
iv) Thus: if an ER’s outplacement service fails to qualify as a working condition fringe under §132d→ included in EE’s gross income
(1) Unless deductible under §162 as ordinary and necessary expense incurred in EE’s trade or business
d) Pulsifer v. C. – lottery won for 3 children→ which year report as income
i) Held: under economic benefit must recognize now b/c had absolute nonforfeitable rt to their winnings; irrevocably set aside for their sole benefit; only needed a representative to apply for funds to retrieve them
e) Constructive Receipt
i) Tax on interest on bank accounts in year posted to depositor’s account b/c interest can be w/drawn at any time→ taxable
(1) Loose v. US – bond coupons representing interest held to be taxable as they matured even though only owners w/safety deposit key were too ill to access and clip coupons
1) Part I-C: Cash Method Deductions – p. 804 (middle)-813 (up to Section 3).  
1) Assignment I-D: Transfers of Property for Services (IRC § 83) p. 902-22
a) Situation before § 83
i) Incentive for TPs to convert income into capital gain
(1) Favorable stock options as a device to compensate corporate executives
ii) Statutory rules: try to find point when ordinary income generating “compensation” aspect of the transaction is transformed into an “investment” – so that any subsequent appreciation in the value of the property in entitled to capital gain treatment
(1) § 83 applies to wide variety of compensation devices
(a) supplanted economic benefit doctrine to determine timing of realization of income from funded nonstatutory deferred compensation arrangements
(i) see example 4 in Rev Rul 60-31
iii) Commissioner v. Lo Bue – stock options for service were taxable gain if intended as compensation, not if designed to provide employee w/”proprietary interest in the business”
(1) If assets (stock, $) transferred to employee in recognition of or to secure better services→ compensation [§61a]→ TP realized taxable gain when purchased stock
(2) If arm’s length transaction, is a purchase b/w strangers→ no taxable gain in year of purchase b/c viewed as purchase of proprietary interest
(3) Options weren’t transferable and TP’s right to buy stock under them was contingent upon remaining an employee until exercised
(4) What time measure gain on shares? TP gave employer promissory notes for option price of first 300 shares, but shares weren’t delivered until notes were paid in cash; mkt value of shares was lower when notes given, than when cash was paid→ Commissioner measured taxable gain by mkt value of shares when cash was paid; TP argues to measure either when options were granted or when notes were given
(5) Reversed & Remanded…
iv) Relationship of valuation to timing of inclusion
(1) Lo Bue rejected Tax Ct’s distinction b/w options granted in order to give an employee a “proprietary interest” in the corp and those granted to provide compensation
(2) When compensation included in income of employee – when option was exercised (b/c at time of grant, option had no readily ascertainable mkt value)
(3) Thus, if option readily ascertainable mkt value at time of grant→ treated as compensation to employee at that time
(a) Inclusion of that compensation in income transforms option into an investment
(b) Any subsequent gain/loss upon disposition of option or stock will be capital in nature
(c) Subsequent exercise of option will no longer be a taxable event
(d) TP’s basis for stock received upon exercise of option will be exercise price + amount included in income at the time of grant 
(i) i.e. this is general rule for basis of property received upon exercise of options: amount paid for option + exercise price
(ii) Here: amount “paid” for option is amt included in income as compensation 
1. i.e. the transaction is treated as if employer paid cash to employee who used it to purchase the option 
v) Restricted Property Arrangements – after Lo Bue TPs tried other devices to provide employees w/capital gain income
(1) Shares of stock in employer corp transferred to employee subject to restriction that employee would have to forfeit stock to corp under specified conditions (e.g. leaving the employ of the corp w/in certain period of time)
(a) Kuchman v. Commissioner – EE didn’t realize any income when shares transferred b/c restriction prevented property from having a fair market value
(b) Lehman v. Commissioner – when condition lapsed and stock was no longer forfeitable → no income was realized and inclusion would be when later sold, and at that point the appreciation would be entitled to capital gain treatment
b) Section 83
i) General explanation of the Tax Reform of 1969 - §83 provides that receiving beneficial interest in property (e.g. stock) for services→ must report as income when received the value of property – unless value of property is subject to substantial risk of forfeiture and is nontransferable
(1) Amount of income – excess of FMV of property over the amount paid for it
(a) FMV determined – w/o regard to any restrictions 
(i) Except: restriction which by its terms never lapse
ii) If value of property is subject to substantial risk of forfeiture and is nontransferable→ EE not required to recognize any income w/respect to property until his interest in the property either becomes transferable or no longer is subject to such risk
iii) EE is not taxed when receives forfeitable property OR when gives it to another person, if it remains subject to forfeitability in the hands of the donee
(1) EE (not the donee) is taxable at time the donee’s rights become nonforfeitable
(2) If EE, who has forfeitable interest in property sells the property in an arm’s length transaction→ EE treated as realizing income at that time
iv) If person can only sell property at price determined by a formula, under a provision which will never lapse→ this restriction is taken into account in valuing the property
(1) Formula price deemed to be the FMV of the property 
v) If restriction was used in valuing property, and was canceled→ EE must recognize compensation income when cancellation occurs
(1) Amount of income recognized is the excess of the FMV (w/o regard to restriction) at time of cancellation over the sum of:
(a) FMV – w/restriction – immediately before cancellation +
(b) Amount, if any, paid for the cancellation
vi) 83b – allows EEs option of treating restricted property as compensation in year received (even though its nontransferable and subject to substantial risk of forfeiture)→ restricted rules don’t apply & later appreciation not treated as compensation
vii) holding period of restricted property deemed to begin at 1st time TP’s rts in property are transferable OR are not subject to substantial risk of forfeiture (the earlier one)
viii) Restricted property rules don’t apply to: 
(1) statutory incentive stock options; 
(2) transfer to or from a qualified retirement trust  (defined in 401a) or transfer under annuity plan (requirements in 404a2);
(3) transfer of option w/o readily ascertainable FMV
(4) transfer of property pursuant to exercise of option w/readily ascertainable FMV at date of grant
ix) § 83h: allows ER a deduction equal to the amount which the EE is required to recognize as income
c) Alves v. Commissioner - § 83 requires EE that bought stock w/services must include as ordinary income stock’s appreciation b/w purchase & when restrictions lapse; unless when EE bought stock he elected to include as income difference b/w purchase price and FMV at that time
i) Issue:  if §83 applies to EE’s purchase of restricted stock when parties stipulated amount paid for stock equaled its FMV w/o regard to any restrictions
ii) Held: § 83 applies to all restricted stock that is transferred “in connection w/performance of services” regardless of amount paid for it (here, transferee paid full FMV for the stock)
d) § 83 enacted in response to disparity b/w tax treatment of restricted stock plans & other types of deferred compensation arrangements
i) (before §83 of 1969) – restricted stock taxed when restrictions lapsed or when sold in arm’s length transaction (taxed on difference b/w purchase price & FMV when transferred or when restrictions lapsed – the lesser one) = tax deferral & tax avoidance advantages over: ER contributions to EE’s pension or profit sharing trust which were immediately taxable in year of receipt
ii) § 83 resolved disparity by requiring TP either to elect to include excess of FMV over PP in year stock was transferred or taxed upon full amount of appreciation when risk of forfeiture was removed
(1) Applied: when property transferred in connection w/services, subject to substantial risk of forfeiture & not disposed in arm’s-length transaction before the property becomes transferable or the risk of forfeiture is removed
iii) Alves claimed b/c paid full FMV for shares→ issued as investment (not in connection w/services); Tax Ct held is was in connection w/services as VP
(1) Payment of full FMV => not transferred in connection w/services;
(2) Stock only offered to directors, officers => connection w/services;
(3) Parties stipulated restricted stock’s purpose was to ensure stay employed => “”
iv) Alves claimed §83 doesn’t apply if pay full FMV – since if paying same amt for restricted and unrestricted stock→ restriction has no effect on value→ no compensation!
(1) Language of § 83 w/connection makes no reference to “compensation”
(2) No statutory requirement that property have a FMV in excess of amount paid at time of transfer
v) § 83 – Congress concerned w/favorable tax treatment afforded to restricted stock plans
(1) Congress also concerned that such plans were means of allowing key employees to become SHs in businesses w/o adhering to requirements in other sections of the code
vi) Nothing in §83b precludes TP who paid FMV for restricted stock from making 83b election
vii) Election is allowed in situations of zero excess
viii) To avoid treatment of appreciation as ordinary income→ must make affirmative election under § 83b in year stock was acquired
(1) Thus, §83b applies to income Alves received when restrictions on stock lapsed
e) Scope of § 83 - generally (not just to restricted stock)
i) Applies to all transfers of property made in connection w/performance of services
(1) E.g. transfers to independent contractors or to employees
ii) Must be a “transfer” of property
(1) Treas. Reg. § 1.83-3a – transfer = when person acquires a beneficial interest in the property
(a) Thus, transferee must bear risk of loss in value of property
(i) E.g. property paid for by nonrecourse obligation to employer – not a “transfer”
1. thus, all appreciation in value until transfer occurs is ordinary incomes
(2) Theophilos v. Commissioner – 1985: taxpayer entered into compensatory K to purchase his employer’s stock, obligation dependent on recapitalization of corp & execution of SH agreement – which were finalized in 4/86, TP paid for stock and delivered to him in 12/86
(a) Held: binding executory K to purchase property – thus stock transfer occurred in 4/86 (when K was finalized)
(i) Thus, excess of FMV of stock in 4/86 over the PP was income under § 83
1. even though stock was worth less in 12/86 when purchase was closed
f) Property - § 83 – very broad; real property, tangible and intangible property
i) Accord Zuhone v. Commmissioner – transfer of an overriding royalty interest [in oil and gas property] considered property when transferred for compensation in services
ii) Mark IV Pictures, Inc. v. Commissioner – receipt of partnership capital interest from prtnship in exchange for services rendered to the partnership was considered property
(1) Rev. Proc. 93-27 – partnership only in future profits – not treated as taxable when received
iii) Montelepre Systemed, Inc. v. C. – right of first refusal to purchase a business = property
iv) Treas. Reg. § 1.83-3e – “property” = an unfunded and unsecured promise to pay money in the future
(1) Thus, § 83 does not apply to deferred compensation arrangements [in ex. 1-3 in Rev. Rul. 60-31]
(a) But Treas. Reg. § 1.83-3e – property includes a beneficial interest in assets, including money, transferred or set aside from claims of creditors in a trust or escrow account
(i) Thus, transfer to escrow agent is now covered by § 83 [ex. 4 in Rev. Rul 60-31]
g) Continue top of 914)
1) Assignment I-E: Accrual Method of Accounting – Income p. 813-835
a) Inclusion prior to receipt – the concept of accrual – income is includible in gross income when all events have occurred which fix the right to receive such income and the amount thereof can be determined w/reasonable accuracy [Treas.Reg. § 1.451-1a]
i) Creation of unconditional right to receive; not when payment is actually received
ii) Accrued items included in income but subsequently not paid→see bad debt provisions §166
b) Charles Schwab Corp v. Commissioner – whether petitioner must accrue brokerage commission income on date a trade is executed or on settlement date
i) Held: purchase/sale of securities goes by trade date
c) Continue “illustrative material bottom of 820)
1) Assignment I-F: Accrual Methods: Deductions p. 835-55
a) Historic rule for accrual of expenses: deductible in year where all events occur that create an unconditional obligation to pay 
i) US v. Anderson – TP had to pay tax on profits from munitions sales in year which fixed amount of liability, not when actually paid
ii) Accrual method of accounting didn’t take into account time value of money concept
(1) TP exploited – b/c didn’t have to discount deductions to reflect payment wouldn’t be made until some time in the future
b) § 461(h) – response – year when 
1) Unit II-A: Time Value of Money Rules p. 533-42; 562 (from E) to 565; Rev Rul 83-51, US v. Midland Ross; Knetsch v US
a) Interest as a profit –seeking expense IRC § 163a – interest is deductible
i) §163a – personal interest is not deductible 
(1) Exceptions: certain home mortgage interest & “qualified educational loan interest”
ii) Interest not expressly subject to “ordinary and necessary” limitation of § 162 & 212, or 263 and 263A
iii) Interest not generally subject to capitalization under § 263 and 263A
(1) Interest must be capitalized only in narrow circumstances
b) What is interest?
i) Albertson’s, Inc. v. Commissioner – accrual TP established nonqualified deferred compensation arrangements (DCAs), and claimed interest expense deduction for $667k for DCA’s interest component accruing that year. Commissioner disallowed deduction b/c no interest was actually paid during the year
(1) TP: interest under 163
(2) C: not interest under 163; is additional deferred comp for personal services deductible under 404a5 or d when comp is includable in income of employee or indep contractor→ only deductible in year actually paid to DCA participants, and none paid→ no deduct!
(3) Look at substance over form [C v. Ct Holding Co.]
(4) “Interest” – amount which one has contracted to pay for the use of borrowed money
(a) compensation for the use of forebearance of money
(b) equivalent of “rent” for the use of funds
(5) Thus, interest is a payment for the use of money that the lender had the legal right to possess, prior to relinquishing possession rights to the debtor
(6) Deferred comp→ defer taxes on deferred comp until year of actual receipt
(a) K controls EE’s rt to payment→ no legal rt to receive payment→ not income now
(b) DCA participants couldn’t demand payment→ TP/petitioner can’t borrow s/t that DCA participants never had the rt to possess
(c) Thus, TP can’t characterize its accruals as interest
(i) Thus compensation→ 404 provisions for deductibility relating to employee benefit plans
ii) Definition of interest
(1) Albertson – interest is “rent” for borrowed $→ if “lender” has no current claim or interest in “borrowed” funds→ an additional amount paid to the putative lender for forbearance  is not interest, but simply a greater amount of an otherwise characterized payment
(a) Economic viewpoint – any increase in amount of a payment that compensates the oblige for deferral should be viewed as interest!
(b) Property sales – interest = “compensation for use or forbearance of money [Duputy v. du Pont]
(2) §1274 – Buyer imputes cash payment to seller who lends same amount to buyer
(a) E.g. buy property w/promissory note = borrowing purchase price from seller & incurring interest expense
(b) Starker v. US – TP conveyed property in exchange for other property at rate of 6% increase yearly→ Ct held “growth factor” was interest
(3) Albertson – employees didn’t “realize” deferred comp→ not taxable to them until receipt – as opposed to property sale for deferred payment b/c seller realized amount equal to principal amount of deferred payment→ must recognize gain at that time
(4) Even if “interest” – deduction may be disallowed or deferred by another provision
(a) E.g. § 404 still applies to defer obligor’s deduction (regardless if interest owed under a deferred comp is considered interest or as deferred comp itself)
c) Points and Loan Origination Fees
i) As pre-requisite to loan, lenders charge fixed sum or points (amt equal to fixed percentage of loan)  in addition to stated periodic interest→ Rev.Rul. 69-188 if deductible as interest:
(1) If payment is compensation for use or forbearance of $ (not payment for specific services which lender performs in connection w/borrower’s account)
(2) Not if amounts are attributable to service charges (even if not stated separately on borrower’s account)
ii) Points or loan origination fee – may qualify as deductible interest under § 163a – such interest is a prepaid expense
(1) Thus, should be capitalized and deducted over life of the loan
(a) Mandated for cash or accrual method taxpayers by § 461g
iii) Fees not interest incurred to obtain a loan – are capital expenditures (in connection to the loan) and are amortizable over the life of the loan if loan is incurred in a business or profit seeking activity [Goodwin v. C]
(1) Rev.Rul. 81-160 – fees are amortized ratably over the life of the loan
d) Bona fide indebtedness requirement

i) For TP to have paid “interest” – amount must be paid w/respect to an obligation to pay an enforceable debt expressed in money terms, i.e. a dollar amount
(1) Even though the obligation so fixed might be dischargeable by a transfer of property
(2) Interest factor that accrues on a conditional obligation – generally not interest until obligation becomes enforceable
(a) TP paid “interest” factor on exercising option to buy real estate→ not deductible interest b/c not unconditionally obligated to pay purchase price until he accepted the offer to sell [Midkiff v. C]
(b) TP paying additional $250 for each day closing was delayed not deductible interest b/c prior to closing there was no legally enforceable obligation to pay the principal amount [Kaempfer v. C]
(c) Ct held executory K created an unconditional obligation and allowed an interest deduction for $900k paid to postpone the closing [Halle v. C]
(i) Agreement didn’t resemble an option - b/c liquidated dmgs was very large, was a percentage of K price, and exceeded seller’s actual dmgs in event of buyers default
(ii) Ct distinguished Kaempfer – additional $250 per day past closing was not deductible as interest b/c there was no legally enforceable obligation to which the $250 per day amount could attach 
(iii) Ct distinguished Midkiff – TP-buyer would have sacrificed only a nominal amount, 1.2% of the price, by defaulting
(d) 3 cases aren’t really distinguishable:

(i) TP in Halle never had unconditional obligation to purchase property and pay a principal sum;
(ii) Once closing was deferred, additional amts paid by buyer were due regardless of whether the closing ever occurred→ thus payments didn’t relate to an obligation to pay a principal amount
1. Int’l Paper Co. v. US – TP-buyer of property under K to pay “interest” from date of K till closing – in addition to stated purchase price
a. Ct ruled here b/c benefits & burdens of ownership didn’t pass until closing→ add’l payments not interest (were increase in purchase price) 
(e) Professor: pointed out in opinion that not so clear if liquidated dmgs→ conditional; if no liquidated dmgs→ unconditional; b/c even if no liquidated dmgs – still could breach (even though will pay breach dmgs)
(i) Liquidated dmgs are a relevant factor – depending if are 1.5% or 10%! – “constructively” unconditional (based on finances
(ii) If no liquidated dmgs clause, only breach dmgs – but still may be more in breach dmgs – e.g. if property value significantly drops
(iii) Relatively short time – 4-5 mths
(iv) TP took on other obligations – another 2%
(v) Paid damages monthly if delayed→ could be up to 10-13%
ii) “No valid indebtedness” analysis – also applied to intra-familial income shifting schemes 
(1) Muserlian v. C - gifts to family members→ immediate loan of funds from each donee to donor for almost amount of each “gift”
(a) Ct held deductions for interest on loans disallowed b/c no valid indebtedness b/c TP had no intent actually to transfer a beneficial interest in money to children at time cash originally was transferred to them
iii) Nonrecourse debt
(1) Treas. Reg. § 1.163-1b – interest paid on a real estate mortgage by the legal or equitable owner of the property is deductible as interest under §163a notwithstanding the absence of personal liability
(a) Thus interest on nonrecourse mortgage is deductible only by owner of property subject to nonrecourse mortgage
(b) If mortgaged property owner sells (regardless if buyer assumes obligation or takes subject to debt)→buyer entitled to claim deduction for interest subsequently paid
(c) If seller is secondarily liable after transfer (e.g. guarantor)→ can’t deduct interest payments made following the buyer’s default [Dean v. C.]
(2) TP buys property subject to nonrecourse mortgage debt that substantially exceeds FMV of property→ how much of indebtedness is bona fide?
(a) Problem is really just for accrual TP

(i) Cash method TP – deducts interest as paid; unlikely for interest to be paid if debt not bona fide
(ii) Accrual TP – may claim interest deductions when obligation to pay interest arises – even though both the principal and interest obligations are nonrecourse
(b) Cts have differing results

(i) Estate of Franklin v. C. – disallowed any accruals where indebtedness far exceeded FMV of property – holding that transaction did not create a bona fide indebtedness
(ii) Pleasant Summit Land Corp. v. C. – interest accruals could be deducted on portion of the indebtedness that didn’t exceed FMV of encumbered property
1. Proper time to compare FMV of collateral and amount of debt: is at the time the debt is incurred
iv) Indebtedness of the TP Requirement

(1) Fundamental requirement of § 163 – the item sought to be deducted is in fact interest on an indebtedness of the TP
(a) Simon v. C. – TP-president of corp agreed to pay interest on a note of corp as part of agreement b/w corp and 3rd-pty oblige to extend maturity and reduce interest rates
(i) Held: TP’s interest deduction not allowed b/c interest paid was not interest on the TP’s indebtedness
(b) Golder v. C. – TP-SHs and officers of corp made payments to 3rd-pty lender in connection w/guarantee of corp’s obligations
(i) Held: guarantor is treated as making a loan to the primary obligor – which may deductible as a bad debt under § 166 if not paid
e) Interest versus Loan Principal or Purchase Price
i) As long as debt instrument bears stated interest (and if instrument is issued in exchange for property the interest rate is at least the applicable federal rate) and is not issued at a discount→ the allocation of payments b/w interest and nondeductible principal usually is determined by Treas. Reg. § 1.446-2e:
(1) Payments are to be treated as consisting first of accrued but unpaid interest, w/any balance being treated as a principal payment
ii) If a debt instrument is issued at a discount (even if it bears stated interest) or if a debt instrument is issued in exchange for property and the stated interest is not at least equal to the applicable federal rate → rules for determining whether amounts paid or accrued on loans or deferred payment sales represent interest or principal are found in §§ 483 (and p.1272-75)
2) Judicial limitations on deductibility of interest in tax motivated transactions p. 562 (E) to 565
a) TPs took advantage: transactions designed to combine currently deductible interest expense w/income that was tax-exempt, realized in a later year, or taxed at a preferential rate
i) Cts responded by denying deductions to sham transactions or if had no purposive activity
b) Knetsch v. US [before § 264] – TP bought 30 yr annuity Ks, funded by a nonrecourse loan, secured by insurance company that issued annuity Ks; Ks earned 2.5% interest while loan bore 3.25% interest 
i) Non tax perspective: bad deal for TP – borrowing from same company paying at a losing rate; yet w/tax perspective b/c of timing - interest inebt – deduct now; yet can defer
ii) Held: SC denied interest deduction b/c the transaction did not appreciably affect his beneficial interest except to reduce his tax; nothing of substance to be realized by Knetsch from this transaction beyond a tax deduction
iii) Ct found the indebtedness was a sham b/c it lacked any nontax substance
c) Goldstein v. C. [before § 461g] – won $140k in Irish sweepstakes, accountant son devised plan to borrow $945k from banks, purchase $1M of Treasury securities pledged as security, then prepaid $81k of interest; TP only profits on after-tax basis (not before-tax)
i) Held: Tax Ct denied interest deduction b/c loans were shams 
ii) Held: Ct of Appeals affirmed but on different grounds: §163a doesn’t permit deduction for interest paid or accrued for loan if lacks purpose, substance or utility from anticipated tax consequences
(1) § 163a – construed to permit deductibility of interest when TP has borrowed funds and incurred an obligation to pay interest in order to engage in what w/reason can be termed purposive activity – even though he decided to borrow in order to gain an interest deduction rather than to finance the activity in some other way
(a) I.e. interest deduction should be permitted whenever it can be said that the TP’s desire to secure an interest deduction is only one of mixed motives that prompts TP to borrow funds
(b) i.e. deduction is proper if there is some substance to the loan arrangement beyond the TP’s desire to secure the deduction
iii) Cts now looking at whole pie (equity) rather than at minimal %age gain
d) Winn-Dixie Stores, Inc. v. C. [before § 264 expressly disallowed] – TP borrows $100M from insurance company to purchase life insurance for 36k employees, plans were to secure loan
(1) Held: Tax Ct applied both “economic substance” and “sham transaction” doctrines to deny an interest deduction
(2) Ct reasoned that pre-tax costs of maintaining plan exceeded predictable pre-tax benefits → no nontax business purpose for entire arrangement
(3) Thus from objective viewpoint – transaction was not likely to produce economic benefits apart from tax deductions – it lacked economic substance and the interest deduction was disallowed
1) Unit IIB – Original Issue Discount

a) Interest on discount obligations p.1096-8; IRC §163e; 483; 1272a1-5, 7, b; 1273; 1274; 1274Aa-c; 1275a1,2,b,c
i) Intro

(1) Installment sales or deferred payment→ receive compensation for loss of immediate sales receipts→ value such money by interest rate→ deductible for borrower; includible in income for lender
(2) Some deferred payment transactions – interest element included as an adjustment to the purchase price of property
(a) Thus purchaser paying higher price to reflect the value of deferred payment → increasing the amount realized by seller→ possibly converting interest into capital gain→ purchaser take higher basis in property, but lose the deduction
(i) These results don’t match economic reality…
(b) Amount realized on a disposition of property and the purchaser’s basis must be adjusted to account for any interest element hidden in price adjustments that are made to provide for the time-value of deferred payments
(i) Similarly in loan transaction – interest may be reflected in a payment of nominal principal greater than the amount of proceeds actually received by borrower
(c) Future value of $1 at end of single year term (compounded 10% annually) is $1.10; Present value of $1.10 due at end of one year (same interest) is $1
(3) Compounding – must be included to determine value of an obligation to pay over multiple periods
(a) If creditor holds an obligation w/a stated interest rate payable annually, the creditor may be expected to reinvest the annual interest received from the borrower
(i) Thus an obligation w/o stated interest must reflect the interest element earned on unpaid interest
(b) Formula Future Value at end of n periods: FVn = PV + PV(r) = PV(n + r)  = Present value times the sum of n periods and the interest rate for each period as a percentage)
(i) Ex: FV of $1 at end of year at 10% interest = $1(1 + 0.10); 
(c) Formula for FV for any period is FVn = PV(1 + r)n
(i) Ex:  FV at end of second period = FV2 + PV (1 + r)(1 + r) = FV2 + PV (1 + r)2 
(ii) Ex:  FV of $1 at end of 6th period (or 3rd year) compounded at 10% semiannually = FV6 = $1(1 + 0.05)6  = $1.34 
1. (which is greater than if compounded annually at 10% = $1.33)
(d) Formula for PV: PVn = FVn/(1 + r)n
(4) Discount obligation – an obligation sold for a price less than its stated principal (or redemption price) 
(a) Original issue discount – difference b/w the amount received at the time the obligation is issued ($1 in example) and its redemption price ($1.34 in example) = $0.34 = represents the cost of borrowing $1 for 3 years-interest
b) OID Rules
i) Reasons for change p.1100-1
(1) Mismatching and noneconomic accrual of interest
(2) Mismeasurement of interest in transactions involving nontraded property
ii) General p.1103-6
(1) §1272: requires holder of an original issue discount bond to include in income the daily portion of original issue discount attributable to the obligation
(a) §163e: conversely permits the issuer of an original discount obligation to deduct the aggregate daily portion of original issue discount for the taxable year, to the extent the interest is otherwise deductible
(2) Application of both rules – apply to all debt obligations w/original issue discount (e.g. bank certificates of deposit that mature in more than one year)
(a) Exceptions: these rules don’t apply to tax exempt obligations, US savings bonds, nonbusiness loans b/w natural persons if loan doesn’t exceed $10k IRC §1272d2
(3) If obligation is held to maturity: upon redemption its basis equals its stated redemption price and neither gain nor loss will be recognized
(a) If holder disposes of it before maturity: purchaser steps into original holder’s shoes w/respect to the remaining original issue discount attributable to the bond
(i) Original holder – treats any amount received in excess of the adjusted basis as gain on disposition
(ii) Second owner – entitled to deduct any such excess over the remaining life of the bond from the amount of original issue discount otherwise required to be included in income §1272a7
(4) Original issue discount - §1273a1 – difference b/w “stated redemption price at maturity” over the “issue price”
(a) Stated redemption price – amount to be paid for the obligation at its maturity, including any interest element payable at that time §1273a2
(i) It does not include fixed and periodic interest payable at intervals of one year or less during the term of the loan
1. Interest is accounted for under issuer’s and holder’s normal accounting methods – so need not be reflected in original issue discount allocation
(ii) Obligation w/stated interest – may be issued for a price less than the stated redemption price
(b) Annual interest – for obligation includes 2 elements: stated interest + portion of original issue discount allocable to the taxable year
(5) Issue price of an obligation - §1273b – depends on nature of obligation and circumstance of its issue
(a) Publicly offered obligation for money – initial offering price to the public at which a substantial amount of the instruments are sold
(b) Non-publicly offered obligation for money – price paid by the first purchaser of the debt instrument
(i) Issued for property (not money): 
(ii) if debt obligation or property received in exchange for the debt obligation is regularly traded on an established market→ issue price will be the FMV of the property received at the time of issue
(iii) if neither debt instrument nor property is traded on an established market→ §1274: imputes original issue discount to most obligations issued for property using the present value of the obligation
1. Present value – determined by using applicable federal rate as discount rate
iii) Economic accrual of interest
(1) Before 1982: OID required ratable deduction and inclusion of OID over the life of the bond→ but this failed to accurately reflect economic accrual of interest
(a) E.g. 3 yr bond w/face amount of $1340 issued for $1k – interest rate of 10% CSA (compounded semi-annually; or an effective annual rate of 10.25%)
(i) So $340 OID ratably over 3 yrs is a $113.33 deduction each yr for 3 yrs
(ii) Interest should grow as outstanding “principal” of loan increases due to interest which has been “borrowed” back – thus $102.50 1st yr; 113 2nd yr; 124.50 3rd yr
(2) Current law – requires OID deductions and inclusions be calculated on a compounding or constant interest basis
(a) §1272a3,5 – OID calculated by determining “yield to maturity” based on semiannual compounding (10% in example)
(b) OID w/in accrual period is ratably allocated to each day of the accrual period §1272a3; Treas. Reg. § 1.1272-1b1iv
(i) Holder of OID bond required to include daily portions of OID for each day bond is held §1272a1
(ii) Issuer deducts OID in same manner §163e; 
(iii) Treas. Reg. §1.1272-1b1ii – allows use of any accrual period not exceeding one year
(c) Treas. Reg. §1.1272-1b1 – OID for any accrual period is calculated by determining yield to maturity of obligation (i.e. discount rate that if used for PV of all principal and interest payments to be made produces same amount as issue price)
(i) OID allocable to each accrual period is the adjusted price of the instrument multiplied by the yield to maturity and reduced by the amount of qualified stated interest allocable to the accrual period
1. Adjusted issue price – original issue price increased by accrued but unpaid OID and decreased by payments [Treas. Reg. §1.1275-1b1]
2. Qualified stated interest – interest that is unconditionally payable at a fixed rate at least annually [Treas. Reg. §1.1273-1c]
	
	Ratable interest
	Economic interest
	“Principal” outstanding

	Year 1
	$113.33
	$102.50
	$1,102.50

	Year 2
	113.33
	113.00
	1,215.50

	Year 3
	113.33
	124.50
	1,340.00


3. E.g. beginning of year 3, adjusted issue price is $1215.50 = reflecting:
a. original issue price of $1000 +
b. accrued interest for years 1 and 2 ($102.50 + 113); 
c. less stated interest payments of zero
d. Thus, amount of OID deducted by the borrower and included by the lender for year 3 is $124.50
- Timing of Interest Deduction

1.
 Generally - Timing of interest depends on taxpayer's method of accounting - §163(a) - "paid" or "accrued"

2.
Certain circumstances - Code mandates the timing of the deduction and the inclusion

a.
Original Issue Discount   

b.
Related Parties -> Matching of deduction event and income event - §267(b) 

i.
Related parties - indiv and corp owned 50%+ directl or indirectly by indiv 

ii.
if A (cash method) and brother each own 40% of Beta Corp (acrual method); A lend Bcorp $ and corp gives A note bearing int, and Y1 corp owes $5000 interest -> then Bcorp may not take deduction for interest that otherwise allowed b/c all events test and economic performance met, until A cash method taxpayer has inclusion of income. 

iii.
Absent control, B could take current deduction for accrued interest

- Imputed Interest and TVOM

1.
Original Issue Discount - another form of interest (other than stated interest)

a.
As OID portion accrues, OID includible in holder's income (§1272); increase holder's basis in oblig, so no maturity, no double inclusion.

b.
Ex: A lend B $1,000. B agree pay A back in 3 yrs $1,000 + $331 of deferred int


Ex: A lend B $1,000. B agree pay A $1,331 in 3 yrs but not delineate b/w principal and debt proceeds on debt = Zero-coupon bond = OID bond issued for cash 

i.
Diff b/w stated redemption price at mat $1,331 and Issue Price $1,000 = OID $331.

ii.
Issue price = amt paid for bond

iii.
Stated redemption price = Amt paid at redemption

iv.
OID = interest in another form

c.
Midland-Ross corp - Sale/exchange of inst purchased at a discount to extent gain on sale of instrument reflected accrued OID = interest -> report it as report interest

d.
§1272 - Economic Accrual if 15% compounded annually (internal rate of return). Interest starts out small and grows b/c int accrues on outstanding debt 


(i.e. Y2: ($1 + interest accrued in Y1 which not paid: 1.15) x 15% = $.173

e.
MATCHING - Ratable accrual of interest would overstate interest accrued in early years. Borrower deduct too much. Lender accrue too much (i.e. R borrow $1 in '81 and borrows every yr to pay outstanding indebtedness. Int rate 15%. All debt paid in 30 yrs -> $65.21/30 yrs = 2.17 deducted by borrower & included by lender each year)

2.
Ex: On Jan 1 94, C, cash method taxpayer, purch from XYZ Corp, a bond issued by XYZ Corp., with a face amt of $10,000 for $7,462. The redemption date is Dec 31, 96. The yield to mat is 10% compounded semiannually. The instr does not provide for any stated int.

a.
OID = Stated redemption price §1273(a)(2) - Issue Price §1273(b)


= 10,000 - 7,462 

b.
OID rules §1272(a)(1) apply to debt instruments. Daily portions - §1272(a)(3)

c.
MATCHING - §163(e) - Most circum, to extent investor has income, issuer has deduction. 

d.
Adjusted Issue Price x Yield To Maturity = OID
e.
AIP = outstanding debt - Original loan proceeds + accrued interest which wasn't paid. 


OID zero coupon bond - all interest is accrued and unpaid interest


10% Accrued on semiannual basis = 5% acrued every 6 mos ~ 10.2% compounded ann


Constant interest to bigger loan balance. Generally accrue on semiannual basis 

f.
1st accrual period: AIP 7,462 x YTM .05 = 


373.10

 
2nd 6mos Y1: AIP (7,462 + 373.10 = 7835.10) x YTM .05 = 
391.755

-> Y1 income inclusion for issuer, deduction for borrower =
764.86


Y2







843.25


Y3







929.69

g.
When bond redeemed, holder get 10,000 and paid only 7,462 so have no further income at redemption

h.
1272(d) - as take in accrual -> increase in his basis, so at the end, no further income to report at redemption

1) Unit II-C - Market Discount p.111-2
a) §1276 – gain on disposition of a market discount bond is treated as ordinary income to the extent of the accrued market discount
i) §1276b – market discount is ratably accrued on a daily basis unless TP elects to have it accrued on the constant interest rate method of §1272a
ii) §1276a2 – TP disposing of a market discount bond in a transaction other than a sale, exchange or involuntary conversion - treated as realizing an amt equal to bond’s FMV
(1) E.g. gift of market discount bond constitutes a realization event w/respect to the accrued mkt discount
iii) §1277 – any “net direct interest expense” w/respect to a market discount bond is allowed as a deduction for the current taxable year only to the extent that the interest expense exceeds the amount of market discount allocable to the taxable year
(1) interest that is deferred under §1277a is allowed as a deduction in the year in which the TP disposes of the market discount bond
(2) §1278b – TP may elect to accrue market discount and include it in income on a current basis
(3) if this election is made→ income is accrued under either of the methods specified in §1276b
(a) if TP made the election→ special rules of §1276a and 1277 do not apply
iv) §1282 applies similar rules to interest on debt attributable to purchasing or carrying certain discount obligations that are not w/in definition of a market discount bond in §1278a1
b) Bond Premium IRC §171, 249; Regs 1.61-12c, 1.163-13a,c,d
i) Premium at original issue
(1) Issuer of bond w/stated interest rate in excess or prevailing mkt rates→ can demand premium for bond
(a) Premium not treated as income to issuer at time of receipt Treas. Reg. §1.61-12c1
(b) Treas. Reg. §1.61-12c3 & 1.163-13 – require issuer to include bond premium over the term of the bond – using constant interest method, by reducing the issuer’s interest deductions
(2) Bondholder - §171 – provides an election to amortize premium over the term of the obligation using the constant interest method of §1272a
(a) Premium reduces the interest income – although the creditor also may treat the premium as a deduction §171e
(i) Election is irrevocable absent consent of Commissioner and applies to all bonds held by TP §171c
(b) If bondholder does not make election:
(i) w/respect to fully taxable bonds→ premium paid is recovered as a loss on redemption of the bond for an amount less than its basis
(ii) w/respect to tax exempt bonds→ premium must be amortized over the life of the bond as a reduction of tax exempt interest and thereby reduces the creditor’s basis
(3) §171b requires creditor to amortize bond premium over the full term to maturity – even though the bond may be callable at an earlier date
1) Unit IID – Imputed Interest p.1098-1103
a) Original Issue Discount
i) Tax Reform Act of 1984
(1) Pre-1984 law:
(a) Timing of inclusion and deduction of interest: OID rules
(b) Measurement of interest in deferred payment transactions involving property: the imputed interest rules
(c) Reasons for Change
(i) Mismatching and noneconomic accrual of interest
(ii) Mismeasurement of interest in transactions involving nontraded property
ii) Explanation of OID Rules
(1) Extension of OID Rules
(a) Overview
(b) Applicable Federal Rate
(c) Regulatory authority
b) Original Issue Discount Obligations Issued For Property p.1106-1109 (up to #4)
(1) Introduction
(2) Publicly Traded Bonds or Property
(3) Discount Obligations Issued for Property That Is Not Publicly Traded
(4) Exceptions to §1274 and the Application of §483
2) Part IIE - Loans with Below-Market Interest Rates p. 961-67

a) Below-mkt and Interest-free loans IRC §7872
i) General explanation of the revenue provisions of the deficit reduction act of 1984
(1) Reasons for change
(2) Explanation of provision
(a) Overview
(b) Loans subject to the provision
(c) Applicable federal rate
(d) De minimis exceptions
b) Illustrative material
i) Gift loans
ii) Other below-market loans
UNIT III – CAPITALIZATION p.403-38
1) Deductible profit-seeking expenses versus nondeductible capital expenditures
a) §263 – Capital expenditures - limits current deductions of some expenditures; expenses incurred for new buildings, permanent improvements to increase value of property→ not deductible (rather give rise to basis)
b) Expenditure in profit-seeking activity – either:
i) Immediately deductible expense under § 162 or § 212; or
ii) Capital expenditure (recovery according to capital cost recovery rules)
(1) Return of capital principle – proceeds from sale treated as recovery of capital;
(2) Cost of acquiring asset or enhancing value/useful life – recoverable as basis on disposition
(a) Recovery – over several years through depreciation, amortization or other cost recovery deductions; deductions
Current Expenses v. Capital Expenditures
§§263, 263A; Reg. §§1.162-3, 1.263(a)-1, -2, 1.263A-1, -2
· Current expenditures – deductible in year incurred
· §263 - Business expenses – for asset w/useful life that extends beyond year in which expense is incurred – must be capitalized 
· Object of capitalization – accurately reflect TP’s true income for each year by matching an expense w/income to which it relates
· Encyclopedia Britannica v. C. – expenditures that can be unambiguously identified w/specific capital assets are not immediately deductible (i.e. can not be deducted as necessary and ordinary expense)
· Facts: publisher held to have made capital expenditure after hiring an outside publishing company to prepare a manuscript for a dictionary, despite a Tax Ct ruling that the expenditures were for services, rather than for the acquisition of an asset
· Rule: expenses incurred to create or enhance long-lived assets require capitalization under §263
· §263A (uniform capitalization rules “UNICAP”) – revenue must outweigh administrative concerns (e.g. author w/future royalties can’t take premature deductions now until retires)
· Requires capitalization of all costs directly and indirectly related to the production of self-created assets (e.g. in-house production of a manuscript)
· §162 – Rules for determining if expense is currently deductible or capitalized

· E.g. currently deductible – incidental materials and supplies (Reg. 1.162-3); incidental repairs that don’t increase value or useful life of repaired property (Reg 1.162-4)
· §167 - Cost of asset w/useful life that extends beyond the year in which the expense is incurred is deducted as depreciation over the useful life of the asset
· §167-168: Determined according to bright-line statutory rules (not actual decline in asset’s value)

· §167 – deduction for exhaustion, wear and tear of property used in trade, business or production of income

· Reg. 1.167a-2, -3: both tangible (machine, building) and intangible (patent) property are eligible for the deduction 

· Amortization – deductions for intangible property

· §168 – most tangible property w/limited useful life is depreciated under accelerated cost recovery system (ACRS)

· ACRS – permits TP to deduct cost of asset over period of time shorter than actual useful life of asset

· §1221a2 – depreciable asset is not capital asset even though the cost of the depreciable asset must be capitalized
· “§1231 assets” (depreciable assets) – gain or loss from sale may be capital or ordinary

· Property w/unlimited useful life (e.g. land) – can not be depreciated or amortized

· w/few statutory exceptions: can recover costs of property when sold (amt realized on sale minus TP’s adjusted basis)

· Prepaid expenses – if attributable to later years→ expense must be capitalized
· C. v. Boylston Market Assoc. – cash method TP prepaid 3 yrs of insurance premiums, had to allocate expense over 3 yrs and deduct portion each year

· Note: accrual method TPs can not deduct prepaid expenses – even if all events test is met in year expense is prepaid – b/c of the economic performance requirement (§461h)

· Capitalization required if expense produces long-term benefit – even if expense doesn’t create a separate asset

· INDOPCO Inc. v. C. – TP took deduction for investment banking and legal fees incurred during year in connection w/friendly takeover b/c takeover produced significant long-term benefits for TP’s SHs→ Ct held had to be capitalized (despite fact expense didn’t create a separate asset)

· Reg. 1.263a-1, -2: must capitalize: costs of acquiring/constructing buildings/machinery, permanent improvements in property, securing copyright, defending/perfecting title in property, architect’s services, commissions paid in purchasing securities
· Overlap – if otherwise deductible business expense (e.g. employee’s wages to build machinery)→ must be capitalized
· C. v. Idaho Power – power company had to capitalize expenses for wages and depreciation on trucks used to construct capital facility w/30 yr life

· I.e. TP had to capitalize (recover costs) over 30 year life of facility, not the shorter useful life of the trucks

· This holding was codified in 1986 (UNICAP) uniform capitalization rules - §263A

· §263A(b) – UNICAP applies to: manufacturers, wholesalers, retailers, other TPs who produce real or tangible property for sale; or acquire real or tangible property for sale to customers in the ordinary course of business
· §263A(b) –“tangible goods” – includes books, films and sound recordings

· §263A(b)(2)(B) – rules apply to TP who acquires personal property for resale only if TP’s annual gross receipts from sales, over a 3 year period exceed $10M
· §263A(h) - Doesn’t apply to: freelance authors, photographers and artists

· §263A(a)(1) - Recovery - If §263A applies then TP must recover expenses of producing/selling when goods are sold, by including those expenses in “costs of goods sold” (i.e. inventory)

· §263A(a)(2) UNICAP applies to direct costs of producing/selling goods and portion of indirect costs allocable to goods sold

· Reg. 1.263A-(1)(e)(2)(i), (g)(1), (2) - “direct costs” – include cost of materials and wages of employees who produce or sell goods

· Reg. 1.263A-(1)(e)(3)(ii) - “indirect costs” – costs of repair and maintenance of equipment or facilities; utility costs; rent on equipment, facilities or land; indirect labor costs; tools and materials; taxes; depreciation; administrative costs; compensation to officers; insurance premiums; contributions to deferred compensation plans; bidding expenses; interest costs
· Reg. 1.263A-(1)(e)(3)(iii), 4(iv)(B), (C) – do not have to capitalized: marketing, advertising, general business and financial planning
· §174, 263A(c)(2) - Research and experimental expenses – most do not have to be capitalized even though they provide a benefit extending beyond the TP’s year

· Reg. 1.263A-(a)(2)(ii)(A)(1) – cost of researching a book (along w/preproduction costs such as editing and illustrating) – have to be capitalized
· Reg. 175 – soil and conservation expenditures incurred by farmers do not have to be capitalized
Three different types of taxes in this class:

1. Estate tax: the tax on the transfer of wealth at death.  So when I die, you determine what I have, you base the tax on that amount.  Starts at 2001 of the code.  Ends at 2058.  possible justifications for the gift tax

a. Why do we have the estate tax?  

i. It raises revenue.  In reality, it only raises 2% or less of the total revenue that is raised every year.  One article suggests that it can help the social security shortfall for a long time to come.  The movement to repeal the estate tax might lose some force because of this kind of thinking.  It is difficult to make this system raise much more revenue.  First, because we are limited only to people who die each year.  A second constraint is the rate (which is somewhere between 45% and 47%).  

ii. Breaking up concentrated wealth:  the argument here is that it hasn’t worked, but on the other hand if we got rid of it, the wealth would be even more concentrated.  Why do we want to break up concentrated wealth?  

1. Unequal opportunity

2. Unequal healthcare

3. Social unrest

4. Poor productivity

5. Undermines democratic values (like campaign contributions).  

6. We want the brightest and the best to rule, not the ones who were lucky enough to be born into it.  

iii. Progression: the more wherewithal you have to contribute to the cost of government, the more we should require us to contribute.  We see this with the income tax.  It makes the income tax system more progressive than it already is.  If a wealthy person holds onto an asset until he or she dies, the income tax never gets paid.  The estate tax fixes this; it keeps the system more progressive.  

b. What arguments are there against the estate tax?  

i. It creates disincentives… people tend to work less with an estate tax.  People might consider it a waste since most of it will go to the government.  

ii. People might save less as a result of the estate tax.  Having no wealth at your death will lead to you not paying taxes.  Savings are important because of productivity.  If we save more as a country, there is more capital out there.  More for banks, more to lend, businesses can borrow, jobs are created, and plants and equipment are modernized.  Punishing savers leads to less savings in the system.  The fact of the matter is that it will make some people save less because they won’t want to pay taxes, and it will make other people save more because they will try to over-compensate.  

iii. It is a form of double taxation.  

1. Is there anything wrong with double taxation?  It occurs in other areas too.  

2. Also, think of it as an income tax surcharge instead of a second layer of tax.  Let’s say we have an income tax rate of 35%.  If I earn $100, I pay $35 in tax and put the rest in the bank.  When I die, let’s say when I die they hit me with a 50% estate tax when I die.  I am left with $32.50.  The other half goes to my daughter.  It effectively becomes a tax of 67.5% total.  The other side of the argument is that very rich people might work even harder, so they can have more to leave to their kids.  Some might work hard because of their egos.  Also, think about it.  Paying 35% income tax now and 50% after you die, doesn’t mean as much as paying 67.5% now.  

iv. Morality.  I work hard.  I save money and want to give it to a loved one upon my death, and I am taxed hard.  Is that fair?  Why are people who are saving being punished?!?!?  The argument against it is that the kids’ moral claim to their parents’ hard work is less than the person who earned it himself.  There is also the “I earned it.  I deserve it” philosophy.  Is that a good argument?  

v. The tax tends to reduce philanthropy.  If we take away a substantial amount of your wealth when you die, you have less to give to charity.  This might not be true because of tax deductions from charitable contributions.  The tax is inefficient.  

1. The tax is distortionary.  It tends to distort behavior.  It distorts the consumption versus savings decision.  Someone will choose to save less because of the tax law even though they would normally do otherwise were it not for the tax law.  

2. It is expensive to keep this tax going.  We spend lots on lawyers trying to draft and plan for this tax.  

3. It is an expensive tax to administer.  This is because it is based on the fair market value of the assets at the payor’s death.  This is hard to determine.  You get involved in lots of appraisals and stuff.  

2. Gift tax: why do we have the gift tax?  The conventional thinking had been that the gift tax had been a necessary backstop of the estate tax.  Without this tax, there would be too much opportunity to avoid the estate tax.  If we were to repeal the estate tax, we would have to go back and think about whether or not it’d be appropriate to retain the gift tax.  However, there is some thinking that maybe the gift tax serves a somewhat independent function, which is as follows: if we were to repeal the estate tax and gift tax, people might be more inclined to gift assets to their children.  Why is that problematic?  If I give a lot of money to my daughter who is in a lower income tax bracket, then she will pay fewer taxes on the income that the gift will earn.  The gift tax serves this secondary function of preventing people from undermining the integrity of the progressive income tax rate system.  Starts at 2501 of the code.  Ends at 2524.  

3. Generation skipping trust tax (GST): what is the purpose of the generation skipping tax?  Prior to 1976, there was no generation skipping tax on the books.  All we had was a gift tax and an estate tax, and because of that very very wealthy families would set up generation skipping trusts.  So if someone died with an estate of $100M, and they wanted to leave it to their son, they could leave it to their son and pay an estate tax.  But when the kid dies, the estate pays a tax again.  People thought of leaving the money instead in a generation skipping trust for the child.  The bottom line is that the trust was drafted so that the child could have access to the money in the trust, and yet at the child’s death, the money was not subject to a tax in the child’s estate.  That is smart.  Then the tax reform act of 1976 came about.  It was made to prevent vertical and horizontal inequity and distortions in peoples’ actions.  The generation skipping trust tax taxes people at each generation anyway.  We won’t return to it this semester.  Starts at 2601 of the code.  This is designed to protect the integrity of the estate tax.  

EGTRA made an important change in the estate tax.  Bush was trying to get the estate tax repealed.  Ultimately, he did not get repeal across the board.  There was a compromise.  As a result, people who die in 2010 will not be subject to the estate tax. What will EGTRA do if it remains intact forever?  There would be no estate tax permanently, but there are two interesting things.  (1) There is still a gift tax (like in 2010) and the exemption amount for gift tax purposes will be $1M.  (2) It changes the basis rule in 1014.  It adopts a new section (1022) in the code that will be effective later.  It says that as a general matter, you no longer get a step up in basis.  EGTRA implicitly acknowledges the concern of 1014, so it overrules it.  

What are some alternatives to the estate tax?

1. The repeal model of EGTRRA (economic growth tax reconciliation and recovery act).  

a. EGTRRA made it so that in the year 2010, we are not going to have an estate tax.  What does EGTRRA’s repeal model look like?  

b. What did they contemplate the world would like in 2010?  

i. There would be no estate tax

ii. What about all that appreciation in assets that people owned in their lifetime that was never subject to income tax?  The appreciation in your real estate, for example, is not taxed unless you sell.  Without EGTRRA, under 1014, if you died with this appreciated real estate, your kid gets it with the new higher basis.  EGTRRA basically says that 1014 no longer applies.  EGTRRA uses the concept of carry over basis instead, meaning your basis gets carried over into your kids’ hands.  So if you bought a house for $10K, then it will be considered like your kids bought it for $10K, and not like they get the new basis at the higher value.  

iii. The gift tax will be retained.  Why?  Because they were concerned that if there is no gift tax, people would start making gifts to family or friends in lower income tax brackets, so the donee would be taxed less on the income from the gift.  

c. So in the model they constructed in 2010, people are not going to be giving gifts.  You can give loans instead, and say in your will that the note is discharged upon your death.  If you loan, it is not a gift.  This will be a big benefit in 2010, but if the estate tax exists, then the money is taxed as part of the estate.  Some courts, however, say that if you loan money with no intent to be repaid, it can be considered a gift.  We will get back to this later.  

2. Compromise… (The exemption is as follows.  If you have a certain amount of wealth, you don’t have to pay the estate tax on it.  The exemption amount this year is $1.5M.  Next year it is $2M until the last day of 2008.  In 2009, it will be 3.5M.  No tax in 2010.  The exemption will be a full estate tax again, full 1014 basis step up, and an exemption of 1M.  

a. So the compromise proposed by Senator Kyle (?) is that the exemption would be increased to $3.5 as soon as possible.  Under this proposal, .15% of people would pay an estate tax.  (In 2000, 2% of estates paid the estate tax).  

b. He wants to bring the maximum tax rate down to 15%.  The maximum rate is now 47%.  He wants the rate to be 15% flat, not a graduated rate.  We are talking about the estate tax.  

c. We don’t have to know or be able to follow this proposal too well.  

d. Gans thinks this proposal will work.  

3. Alternative 3: get rid of the estate tax, then an income tax on the appreciation of the estate from when you bought it.  

4. Alternative 4: repeal the estate tax.  Right now, under 102, if I gift or bequeath assets to someone, they don’t have income.  So another possibility here is that if we get rid of the estate tax, we tax the donee or legatee on what they received; treat it as income.  

5. Alternative 5: a wealth tax.  It is imposed annually at how much wealth someone has.  If you have a million dollars of investments, you make a 2% tax on the investment.  Death doesn’t matter.  

Problem 1
Look at 2501 of the code.  There will be a tax on certain transfer as computed in 2502.  2502 is a difficult section to understand at the moment.  2502 says we have to compute a tentative tax computed under 2001(c) on the aggregate sum of taxable gifts for such calendar year.  Now, remember we assumed that Aaron made no taxable gifts prior to 2004.  2503 tells us what a taxable gift is.  It defines the term “taxable gifts,” and it provides that the term means the amount of gifts made during the calendar year minus certain deductions.  2503(b) says that if you make a gift to someone throughout the course of the year, that is no more than $11K, you don’t have to pay taxes on it.  Why do we have this annual exclusion?  It is trying to tell us the nightmare it would cause on taxpayers if every little gift could be taxed.  

Ok, so in this problem, the amount of the gift is $1,511,000.  This is a large gift.  It is going to have to be reported.  The law is that the taxpayer retains the benefit of the exclusion, so the first $11K is excluded.  

Remember that 2502 sends us to 2001(c) which tells us the rate schedule of estate taxes.  Why are we looking at estate taxes when dealing with gift taxes?  Because prior to 1976, the gift tax rate schedule was cheaper than the estate tax rate schedule.  The gift tax was exactly 75% of the estate tax rate schedule.  The point was to make people make inter vivos transfers.  They were made the same in 1976 to stop the inequity and the distortion it created.  

a. What is Aaron’s gift tax liability for 2004?  Fair market value of the gifted item on the date of transfer ($1,511,000) – annual exclusion ($11,000) = $1.5M.  2512 says to use the fair market value.  Now we look to 2001(c).  So since we are being taxed for $1.5M, you follow 2001(c) down the chart to “$1.5M but not over $2M.”  The tax is “$555,800, plus 45% of the excess of such amount over $1,500,000.”  The tax on the $1.5M is therefore $555,800.  The IRS doesn’t want to tax the wealthy as much as the SUPER WEALTHY, so they want to forgive the gift tax on the first $1M.  Look at 2505, Unified Credit Against Gift Tax.  Don’t forget EGTRRA and what happens before and after its existence.  2505 gives a $1M exemption, so we subtract out the amount of tax for what it would be on a million dollars, which (according to 2001(c)) is $345,800.  $555,800 - $345,800 = $210,000.  

b. What is Aaron’s federal estate tax liability in 2008?  2001(b) tells us how to calculate the estate tax.  Find out what the taxable estate is.  Then add to it the adjusted taxable gifts.  $1M + $1.5M = $2.5M.  You get taxed $555,800 on the first $1.5M, then 45% on the next million because it is the calendar year 2008.  Add those, and you get $1,005,800 - $210,000 = $795,800.  $210K is the gift tax payable, so it gets subtracted because Aaron was supposed to pay it.  There is a unified credit exemption again in 2010.  In 2008, it was $2,000,000.  $780,000 then gets subtracted, and the estate tax is $15,000.  

Why does it matter that he paid a gift in 2004?  Why do we need to know every gift made since 1976?  Because we are trying to tax us as though we have never made those previous gifts.  Now they make us poor all our prior gifts into the taxable estate based on the sum of all cumulative transfers.  So what do we do about gifts made prior to 1976?  

The double taxation concern is taken care of by giving credit for the gift.  

What about the unified credit?  Are we getting two unified credits or one?  

We are treating this tax payer as if they in fact hadn’t made the gift; therefore, $2.5M is the amount that should be subject to taxes.  We seem to be taking the unified credit into account twice.  Also, the code provides for the unified credit in two places, one for gift tax purposes and one for estate tax purposes.  The answer to the question is that it seems that the gift tax is acting like an estimated estate tax.  When you make your gift, you are making an estimate of what you think your estate tax will be when you die.  

The gift tax is like a deposit because you make a deposit of $210K, and then you get credit for it when you die.  

How do we explain the lack of congruence between the $1,000,000 gift tax exemption and the different estate tax exemptions provided by EGTRRA?  Prior to EGTRRA, the numbers were always in step.  EGTRRA limits the gift tax exemption to $1,000,000 in order to prevent gaming (like giving gifts to make the tax payable in lower income brackets).  

The bottom line conclusion here is that we only got the exemption once.  

What are the advantages of gifts, or did the tax reform act of 1976 remove all the advantages?  

Had the person in the previous problem not made the gift, they would have had in their estate $1M plus the amount they made as the gift which was $1,511,000 and the $210,000 gift tax that they paid.  (We are disregarding the interest or income from the estate here).  The total estate would therefore be $2,721,000.  We can see that by making the gift, they secured the advantage.  

They were originally taxed on $2,500,000.  If they didn’t make the gift, they would have gone to the table with $2,721,000.  The amount they were taxed on was reduced by $221,000.  Why?

1. The annual exclusion of the gift tax is excluded.  You can give $11,000 at a time to different people and not pay any tax on it.  Your wife can do the same.  That is amazing.  

2. The $210,000 is the gift tax you paid.   A second advantage of making gifts is tax-differential.  To boil it down, when you make a gift and you pay the gift tax, you calculate the gift tax based on the amount actually passing to the donee.  The calculation of the gift tax is based on the actual amount that passes to the donee.  You are simply taxed on the amount the passes to the donee.  The tax itself is excluded.  The amount that goes to the IRS isn’t included.  This is different than the estate tax base

Think of this…

If I have $75M, I can give my daughter a gift of $50M and pay the $25M (half) and be done.  

If I die with $75M, my daughter gets $37.5M, and the government gets $37.5.  

There is a tax-based differential!  One includes the taxes in what is taxed.  One doesn’t.  

Congress wanted to prevent this from happening on their deathbed.  Everyone would run around making deathbed gifts to avoid estate taxes.  2035(b) says that if you made that $50M gift on you deathbed, the taxable gift would be $50M, and the $25M you pay in gift tax would be included in your taxable estate, so you go to the table with $75M, and you have achieved nothing.  

2512 says you determine the value of the gift based on the date of the gift.  

X says on the date of death.  

The point is that if you give a gift something worth $1M and it is worth $5M at your death, and you have an estate of $1, your total taxable estate is $2M, not $6M.  

There are 2 disadvantages of giving gifts too.  

1. The time value of money.  Paying your money in gift tax makes it no longer available to you, so the cost of making a gift is that you wind up paying your estate tax earlier than you otherwise would have.  

2. The disadvantage of giving the inter vivos gift is you give your daughter a lower basis.  

The advantage of fixation roughly offsets the disadvantage of time value.  

Let’s say I have $1.50 and I am earning 10% on it.  If I don’t make a gift, and I die one year from now, my legatee will get how much.  It will be worth $1.65, and my legatee will inherit 82.5 cents.  I paid 82.5 cents in tax.  

Now let’s say I made a gift of a dollar.  I will pay a gift tax of 50 cents, and my daughter has the dollar.  A year from now she has that dollar which turned into $1.10.  My daughter ended up with an extra 27.5 cents.  That entire 27.5 cents is tax-based differential.  

By making the gift, we are knocking 50 cents out of the tax.  It is the difference between being tax exclusive and being tax inclusive.  The loss of my 50 cents to the government must equally offset the advantage I getting from fixing the value.  

If the law were to take away tax based differentials, I’d be saying to myself that if I make the gift now, she gets the 75 cents now, and she will have 82.5 cents in a year.  Or I could keep the money in my pocket, have 1.65 and give her in a year 82.5 cents, half of what the money is worth.  

REVIEW

You give a gift of $1,511,000.  The first $11,000 is not taxable because of the annual exclusion.  This comes off before you go to the table.  2503.  Then you go to the table.  On a gift of $1.5M, you pay a tax of $555,800.  So you then look to the unified credit, which says the first million is not taxable, so you take out the taxes you would pay on that first million, which the chart says is $345,800.  “The tax on the first million is zeroed out by a credit.”  So you subtract 345,800 from 555,800, and you get 210,000.  

Estate tax calculation.  You take the adjusted taxable gift and at it to the taxable estate, which was $1M plus $1.5M and you get $2.5M.  You now compute the tax based on $2.5M.  That tax came out to $1,005,800.  In that year, the most you can be taxed is 45%, so you use the chart up to the point where 45% is taxed, and then you tax the rest at 45%.  THAT MAKES SENSE.  Now you are entitled to a unified credit for estate tax purposes.  For someone who dies in 2008, the first $2M is not subject to tax.  On $2M, the tax would be $780,800.  You subtract that from $1,005,800, and you get $225,000.  Now you get a credit from the gift tax that was payable that you paid during life which was $210,000, so you don’t pay it twice!!!  So it is $225,000 minus $210,000, which equals $15,000.  

The reason they do that last part is to increase your bracket.  It is taxed on top of the original $1.5M to get the top part of your estate taxed at a higher bracket.  But since we are putting the full $2.5M in the measuring cup, we are going to credit you for what you paid.  

Three advantages to making an inter vivos gift:

1. Tax-based differential: you get this advantage by making the gift and paying the gift tax.  

2. the annual exclusion

3. Fixation of value, meaning that once you make the gift, any post-gift income appreciation is now out of my tax base.  Like if I give my daughter $1M worth of stock today and it is worth $100M when I die it is locked in value-wise as of the date of the gift.  

You get these advantages by making the gift.  

Would you want to pay a dollar to get a dollar now out of your estate when you die?  Yes.  

Fixation is an advantage, but it is a disadvantage because you lose the opportunity to use the money or earn money on it.  Time-value of money on the money you give to the IRS in gift tax.  

If someone offered you fixation of value without time-value disadvantage, you would like it.  How can this be done?  Let’s say that Gans made a gift of $1,011,000 today to his daughter.  How much gift tax is he going to pay?  The annual exclusion is $11K.  The unified credit for tax purposes is 345,800 (based on $1M).  The first question to ask is whether or not Gans has made any prior gifts.  The reason is that you can only exclude $1M over your lifetime.  I didn’t know that.  The first time you give $1M, you have used up your unified credit for gift tax purposes.  2505 says once you use up the unified credit, it is gone.  Good advice.  Use your unified credit as early and quickly as possible.  Why?  Because if I make the gift now to my daughter, I am locking it in at $1M, and I paid no tax.  So any accrual of interest or increase on the property will be out of my tax base.  The earlier I make it, the more I lock out of my tax base, and the more fixation I am enjoying.  There is no time-value disadvantage either because I am not paying any tax at all. 

If you can make gifts and pay gift tax, it can still be a great deal because you are getting tax based differential, and fixation if your money was not earning money or earning very little money

Even where all of my assets are earning the same return such that fixation will offset time value, it may still be a good gift in order to secure the advantage of tax based differential.  

There is a disadvantage of giving gifts in terms of income tax.  Let’s say I have an asset that cost me $10.  My basis for income tax purposes is $10.  If I sold it for $100, I’d have $90 worth of income.  Section 1015 says giving an inter vivos gift does not increase the tax basis.  She has the same basis as you.  This way, you can’t sneak around the income tax.  1014 says you can game the system because no one is willing to die to avoid the income tax.  1014 says that the basis is the same as on the day you die.  There is an advantage to giving it by will.  This is a disadvantage to giving an inter vivos gift.  

There may be a strategy to completely negate the effect of 1015.  It is a very sophisticated income tax strategy.  Instead of giving my daughter the stock in Google outright, I instead give her an inter vivos trust.  The trust can say something like “keep this stock in trust until I die, and at my death, she gets it.”  She can even be the trustee.  What is the trust basis in this stock?  The basis is $10 of stock.  When I die, she is still getting that $10 basis because this is still viewed as an inter vivos transfer.  Now I am going to draft this trust to make it so it is a grantor trust.  I am going to make it a grantor trust by including certain provisions.  In section 671 to 679 of the code, they talk about these grantor trust provisions.  If you include certain provisions in the trust that are in these sections, it will be treated as a grantor trust.  Revenue Ruling 85-13 says the consequence of having a grantor trust is that it is completely ignored for all income tax purposes.  In other words, everything in the trust is treated as if it were owned by the grantor.  Ok, so some years later, I am on my death bed and my family asks me whatever happened with that stock.  The stock is in the trust and worth $100M.  This trust is disregarded SOLELY FOR INCOME TAX PURPOSES.  It WILL be a part of my estate.  The key advice is to have me, the client, buy the stock back for its present value of $100M with his own cash.  The daughter’s basis is now $100M.  The client cannot die unexpectedly.  

All transactions between you and your grantor trust are ignored for income tax purposes.  

All gifts should be made in grantor trust.  Just don’t let the client die unexpectedly.  This has to do with income tax, not gift and estate tax.  

Interesting problem concerning state estate tax: prior to EGTRRA, you would figure your federal estate tax, and then you would go and calculate your state estate tax.  Then you calculate.  The federal government would credit you for your state estate tax against the federal government.  Pre-egtrra, if you owed 100 to the government and 20 to the state, you could pay 80 to the government and 20 to the state.  It was credited.  The federal government was permitting a sharing of revenue.  This also took away some of the competitive pressure of living in different states.  Those were the two goals.  There was a limit to the credit though.  Section 2011 of the code created this ceiling.  

Now let’s look at what happened.  Florida has a provision in its state constitution which bars them from imposing any state estate tax.  They also don’t have an income tax.  They raise a large amount of revenue from sales tax (which their tourists pay).  Their constitution does allow a sop tax.  Florida realized they should be taking the handout from the government because the taxpayer is credited.  The sop tax sops up the credit that 2011 allows.  This was all pre-egtrra. 

In January 2001, section 2011 was repealed, but they enacted a new section which authorizes a deduction in arriving at the taxable estate.  Now remember, a $20 deduction only saves you like $10.  A $20 credit saves you $20.  Gans wrote a letter to all 50 governors saying the state would be hurt.  Because of EGTRRA, Florida now imposes no estate tax.  Florida’s state constitution only permits them to sop up the credit.  Bush ironically took money out of his brother’s pocket.  So now if you die in Florida, you pay no state estate tax.  New York has a stand alone state estate tax that actually has a bite.  If you die in New York, you are allowed a deduction on this stand alone tax.  

In Florida, if you owe the federal government 100, that is it, you are done.  

In New York, if you owe 100, you may owe something like 30.  You are allowed a deduction reducing the federal government tax by 15.  So you owe 85 + 30 = $115.  
Calculation of the gross estate

What we have been doing up until now is assuming the taxable estate without getting into what constitutes the taxable estate.  

In order to calculate the taxable estate, we have to take the gross estate, and from that we are permitted to take certain deductions.  Section 2051.  Once we have the taxable estate, we go to 2001.  Remember?  

2033 is a very critical section in terms of what goes into the gross estate.  “The value of the gross estate shall include the value of all property to the extent of the interest therein of the decedent at the time of his death.”  If we boil this down, it seems like we are focusing on property in which the decedent had an interest at his death.  

For example, if I own a home at the time of my death, that home is going to come in under 2033.  If I own a car, same thing.  Bank accounts, same thing.  

What does this mean “interest at death”?  If you look at the cases, you essentially come up with three questions, and if the answer to all three of these questions is yes, you have a 2033.  

1. Did the decedent’s right in this property survive his or her death?  

2. When did the right come into existence?  More specifically, did it come into existence before the decedent died?  

3. Did the decedent have the right to control the disposition of the item by will?  

In all of these questions, there is a state law aspect to the question.  Like in the first question, we will look to state law to answer it.  Why not federal law?  Generally, congress does not have the power to make law regarding property issues.  That is usually reserved for the states.  In the second question, when you ask when the right arose, you are looking at state law.  In the third question, whether something can be controlled by will is a state law issue.  

Once the decision was made to impose a tax on the transfer of wealth, then it seems that we are necessarily into questions of state law.  

So why do we look to these three questions?  Ask him.  

Safe Deposit case: this is a 1941 case regarding an older version of 2033.  For all intents and purposes, it is the same.  The question in this case was whether or not a decedent who had a general testamentary power of appointment had it in his estate under 2033.  

What is a power of appointment?  You could not draft estate instruments without understanding how to use powers of appointment.  A power of appointment is an arrangement where one person called the donor of the power authorizes another person called the donee of the power to dispose of the donor’s property.  For example, let’s say that in my will, I create a trust.  Let’s say I create the trust for the benefit of my wife.  We didn’t make a clause for what happens to my wife when she dies.  We could say that it will go to my issue.  Another option that clients like is to draft it so that the surviving spouse gets the judgment call of what happens to the money next.  Shit gets locked up if you don’t give away power of appointment.  It all depends on the client.  The husband would be called the donor of appointment, and the wife would be called the donee of appointment.  

In the Safe Deposit case, the donee of the power died, and we were trying to determine the gross estate of the donee of the power.  Someone else had previously died and created in this decedent the power.  Should the power of appointment be included in this decedent’s gross estate under section 2033?  

General power of appointment: defined in section 2041.  2041 says that a power of appointment is a general power of appointment if it exercisable by the donee in favor of one of four categories of people.  (1) In favor of the donee; or (2) in favor of the creditors of the donee; or (3) in favor of the estate of the donee; or (4) in favor of the creditors of the estate of the donee.  State law almost always defines general power the same.  

Special or Limited Power of appointment: if it is not a general power of appointment.  

In our hypo, did the husband give his wife a general or special power of appointment?  Ask “in favor of whom could she exercise the power?”  Did we even say?  Let’s say that his will said that at wife’s death, the trustee shall pay over the principle to such of our issue as she may designate in her will.  When the wife is limited to only giving the money to her estate however she wants to divvy it up, she has a specific power.  It is simple.  She is limited.  
Where the wife can give it to her estate if she wants to, the wife has a general power.  Her power is unlimited.  If her power is exercisable in favor of any of the four mentioned, she has a general power.  

“At her death to anyone she may select…” (So far it is general) “…excluding, however, herself, her creditors, the creditors of her estate, and her estate.”  It now becomes specific.  This sort of drafting is non uncommon.  Why would anyone draft like this?  She is given a very broad specific power, but why not just give it to her outright then?  This is because under 2041 of the code, if you have a general power of appointment, it is includable in your gross estate.  So if she is given a very broad limited power of appointment, it won’t be in her estate.  There is also a state law issue maybe that says where she dies with a general power; her creditors might be able to get at it.  

Testamentary power of appointment: this sort of power of appointment is exercised by will.  This is when you give the power of appointment and the donee can only use it by their own will.  

So you can have four types:

1. non-testamentary special

2. testamentary special

3. non-testamentary general

4. testamentary general

So back to Safe Deposit.  At the time of this case, 2041 only applied to exercised general powers.  Unexercised were not included.  The government stepped in because they didn’t like the outcome of this case.  They try to force it into the decedent’s estate under 2033.  The Supreme Court rejected the government’s argument.  After the decision, the government went to the court of last resort… congress.  Congress passed an amendment in 1942 (to section 2041) saying that general powers of appointment are includable whether exercised or not.  

So today, a power of appointment is included in the gross estate under 2041 no matter what.  Is it includable under 2033?  Gans says no.  Because the Supreme Court said that it isn’t included under 2033, but congress overturned it by amending 2041.  It doesn’t really matter that it isn’t included in 2033.  

Section 361 is the section that says what is income for income tax purposes.  It is analogous to section 2033.  

	A
	B

	
	


A trust is created to A for life then to B’s estate.  What does that mean?  Where does it go?  It goes to B’s executor.  He will distribute it in accordance with the terms of B’s will.  What if B dies before A?  Does B’s estate include the money from the trust from A?  Ask the three questions.  

1. Did the decedent’s right in this property survive his or her death?  Yes.  

2. When did the right come into existence?  More specifically, did it come into existence before the decedent died?  Yes. 

3. Did the decedent have the right to control the disposition of the item by will?  Yes.  

It therefore seems that B has a 2033.  It seems like a general power of appointment, and we know they are not included in 2033.  BUT THERE IS A REG…  2041-1b2 that says the value of the interest in the remainder is includable in the gross estate under 2033 regardless of its includability under 2041.  If it is includable under one section, that is the end of the story.  The taxpayer can’t argue that it wouldn’t have been includable under another section.  This regulation is chipping away at whatever was left of Safe Deposit.  

Brand X says that agencies have the authority to issue regulations that overturn Supreme Court decisions.  Remember it from income tax.  You can just copy and paste that here.  

Andrews: 2033 publicity case discusses whether the right of publicity can be a part of one’s estate.  This case says it can.  You have to look to state law.  

Wrongful Death Actions: some background first.  English common law says that when a person died, his tort claims died with him.  Lord Campbell’s Act was enacted in Britain eventually which moved away from the common law rule.  Certain people designated in the statute could bring the action for wrongful death.  In NY, the claim is conferred on the decedent’s intestate takers.  The same goes for any state following the British act.  Your personal representative would continue the suit.  What if you have a will?  It doesn’t matter in NY.  Other states have different rules.  The question is whether the money from the suit will be included in the gross estate.  No, because in NY, it would fail question three of the three part test above.  The decedent in NY does not have the right to control the disposition of the item by will.  

Survival Claims: there are certain claims that survive the decedent’s death and are brought by the decedent’s personal representative, but the survival claim inures to the benefit of the decedent’s estate.  Pain and suffering, lost wages, and medical bills all go to my estate.  What does this mean?  The check would be made out to my executor, and it would be deposited into my estate.  If I have a will, it goes where I say.  If not, it follows the intestacy statute.  So survival claims go to my estate, while wrongful death actions go to my intestate takers.  Survival claims will be part of your gross estate and subject to 2033 because it passes the three part test.  A survival claim is when someone has a suit going on, and then they die.  

In Connecticut Bank, an issue about wrongful death arose.  Connecticut allows for wrongful death recoveries.  A CT statute says that wrongful death claims go to the decedent’s estate.  So there was a case in CT on point.  Someone died, but the court ruled that the wrongful death action was NOT includable in the decedent’s estate!  What?  Why?  The court argues that this claim did not arise until the moment of death, so it should not be included in the gross estate.  The government then argued “can this be included in the estate as part of 2041 general powers of appointment?”  No, because the right doesn’t come into existence until after death, so the decedent could not have made a transfer.  Survival claims arise pre-death, so they are includable in the decedents’ estates.  

Belcher case?  The decedent sent checks out to charities.  He made charitable contributions on December 21st.  Decedent died on December 31st.  By the time, decedent died, the checks did not clear yet.  They cleared in January.  The question is “how much is includable in the decedent’s estate?”  Let’s say that we are now preparing the decedent’s estate tax return.  We will look to his assets and therefore his bank accounts as of his date of death.  In this case, the bank account was adjusted weeks after he died because of gifts he made while alive.  Which amount is his gross estate?  Is it the amount before the check cleared or after?  Well, just so you know, once decedent dies, the executor can stop payment on the check.  Another thing worth knowing, when I make a check out to someone as a gift, I am not making a gift.  I am only promising to give a gift.  It is not a gift until the check clears.  If I die, my executor steps into my shoes and can stop payment on the check just as I could have if I were alive.  As a practical matter, executors don’t often cancel checks made by decedents.  The executor also would have a right to sue and recover the gift (this only works where there was no considerations like in gifts to charities).  If the check were written as a payoff of some debt, the executor wouldn’t sue because the estate owes the money.  The question to ask is “At the time of decedent’s death, how much money could the decedent control?  Could he control the money he had given out as checks that wasn’t cleared yet?”  He could have controlled all of it before it cleared.  He could have written a will that said “I want all the money in my checking out that is there at the time I die to go to my wife.”  And since that is the case, the entire $200K should be included in the estate, but the court held that it was not included in the gross estate.  Gans thinks the court is wrong.  Here is what the court was doing.  What actually happened in this case is that the decedent died and never had a will.  After his death, what would you have done as executor?  The executor could sue the charity to get the money back before it clears.  Should you?  Here is what the executor should do.  He should call the beneficiaries of the estate and ask if they want the money to go to the charity or not.  If they don’t consent to the charity getting the money, I (as a lawyer) will be sued for breaching my duty to her.  This means that at the time of the decedent’s death, he could control $200K, and $200K should be included.  The court realized now that their decision was a harsh one.  The daughter let the money go to the charity and had to pay the tax on the entire estate.  The IRS would be taking advantage of the situation.  If the check cleared, then the estate would only have had to pay tax on what was left in the estate.  

The court, from a policy perspective, tortured the legal analysis to cut the estate a break and allow them to pay tax on only what wasn’t given to charity.  How did they get around the correct result just to help the estate?  They looked to a regulation that said cash in the bank at death is includable in the gross estate, but there was an exception.  If an outstanding check was given in discharge of a bonified legal obligation of the decedent incurred for an adequate and full consideration, and the check is eventually honored by the bank, you can omit from the gross estate the amount of this check provided the estate does not claim a 2053 deduction.  2053 allows deductions for decedents if he owes debts.  It is just a shortcut to the same place.  

In this case, there was no legal obligation and no consideration.  The court is crazy if they think these facts satisfy this exception, but they made it fit!  Gans likes the outcome, but doesn’t agree with the legal analysis.  He thinks the code should be amended.  The court also ends by saying “if this were a non-charity, the analysis could very well be different.”  They were just playing policy.  Regulation 2031-5.  

Let’s try a non-charitable case then.  Rosano.  2nd Cir. Case.  Shortly prior to death, decedent (on his death) bed made out 45 checks to 45 different people, and each check was made out in the amount of $10K.  They were not to be cashed until he died.  He was trying to avoid taxes.  The checks did not clear until shortly after death.  The second circuit was troubled by this.  2035 prohibits deathbed transactions, but it doesn’t apply to annual exclusions.  If the check clears before decedent dies, it is out of the estate.  

If the decedent instead did the same thing through will, it wouldn’t have exempted the gift from taxes.  The annual exclusion only applies to inter vivos gifts!  Gans thinks that this is treating form over substance, and he doesn’t like it.  It is inequitable, and it punishes people for not having sophisticated council and/or who might have been preoccupied with their loved ones’ death.  

So what happens in Rosano then?  The court said that given that this is technically OK, the decedent was still being too cute.  The court included the money in decedent’s estate and taxed it.  Should it have been included in the gross estate?  It looks like it.  Apply the three part test.  The IRS has acquiesced to this case.  

Bottom line, if you are in the charitable, the checks won’t be included in your estate.  If you are in the non-charitable context, they will be included in your estate.  

If the check clears while the decedent is alive, none of this matters.  Certifying the checks is a good idea because it makes everything a done deal.  

Hypo: end of the year annual exclusion planning.  A dad gives his daughter a check for $11K at the end of the year.  It clears in the next year.  Is that a gift in 2005 or 2006?  It will likely be a 2006 annual exclusion, and that means the 2005 one was wasted.  The IRS says that generally, a gift is not a gift until the check clears.  Exception: if the donee deposits the check before January 1, and then the check clears, we’ll call it a 2005 gift.  Deposited… not cleared!  They are worried about this hypo.  My dad writes a check on January 1 but dates it the week before.  Depositing eliminates this possibility.  So make sure checks get deposited.  Rev Rule.  96-56.  
2033 Problems:

1. A transfers $1M to T as trustee, in trust.  The trust provides that its income is to be payable to B for life, the remainder to C if C is living at B’s death, or if C dies before B, then to D or D’s estate.  

a. What would happen if T were to die?  What would be included in T’s gross estate?  Tony was the beneficiary, and he had no control of the estate, so he could not bequeath any of the trust’s assets.  

b. What happens if B dies?  What would be included in B’s gross estate?  B only has a life estate that extinguishes at his death, so at his death he has nothing to bequeath.  

c. What happens if C predeceases B?  Same as last one because C has no control over it, and his interest would evaporate at B’s death.  

d. What happens if D predeceases B and C?  D doesn’t have to be alive to take, so he can bequeath it; he doesn’t have a 2033.  

e. D dies, survived by B but not C.  If B is 40 at the time of D’s death, conceptually what amount should be included in D’s estate?  D’s interest can be bequeathed by will.  He doesn’t even have to worry about C surviving B and taking.  If you were the beneficiary under B’s will, what would you want to know?  You would ask what is in the trust right now.  Let’s say there is $100M in the trust.  That means that T is sitting with the $100M.  Presumably the money is invested, and T has a fiduciary duty to keep it productive.  The trustee gets income from these investments.  Let’s say the trustee has invested it in stocks and bonds.  Bonds pay interest.  So let’s say he is making $1M a year in dividends and $2M in interest.  So the trustee is making $3M a year.  That $3M goes right out to B because he is entitled to the income by the terms of the trust.  Interest and dividends are a form of income.  The fund of $100M sits there (and it may be appreciating for like 7%, which is $7M).  B is still only entitled to the income, not the appreciation.  The income beneficiary does not get the appreciation.  We would also want to know the terms of the trust.  What if it says the trustee has the discretion to give principal to B if the trustee thinks B needs it.  This will depress the value of the trust because T can give away what he thinks is necessary to give away.  

i. What would be the amount of the actual inclusion in Dante’s estate if the appropriate rate under 7520(a) (2) is 8%?  See tables under 20.2031-7(d) (6).  We need to know how old B is and what the interest rate is at the time of D’s death.  The age of B matters because the longer you have to wait, the less value the remainder has to you.  And why do we have to know the interest rate environment?  Well, what we are figuring out here is the present value of the right to receive money in the future.  The higher the interest rate, the lower the present value.  If you go to the tables with a 40 year old person and the interest rate is 8%, the remainder is worth .09447 times the value of the trust.  9.4%.  This also means that the life estate is worth the rest?  

2. Carmella loans Meadow $200K on June 1, 2002.  Meadow gives her a promissory note which calls for annual 8% interest payments and a balloon payment at the end of 5 years.  On January 1, 2005, Carmella dies.  At that time, $8K of interest had accrued on the loan since Meadow’s last payment.  Carmella’s will directs that any indebtedness represented by the June 1, 2002 loan shall be canceled.  What amounts are included in Carmella’s estate under IRC 2033 on account of the loan?  Regulation 2033-1(b) says that notes or other claims held by the decedent are included even though canceled by decedent’s will.  This makes sense.  Think of the 3 prong test.  This rule makes sense because it’d be a loophole around gift and estate taxes.  

a. Why did Carmella charge interest to Meadow?  There used to be a gimmick around that lots of people did, but it was closed down.  The idea was that one taxpayer lent $18M to their kids interest free.  Their goal was to loan it interest free, so they could pay less estate tax at death.  Section 7872 tells you how to compute the interest you must charge.  It is a lot like 7520.  If you don’t charge that rate, you are deemed to have made a gift.  

3. Artie is injured in an auto accident caused by another’s negligence.  He spends several days in the hospital before dying.  The applicable state law provides that wrongful death actions are to be prosecuted by a decedent’s executor as opposed to certain statutory beneficiaries.  Accordingly, any proceeds of the lawsuit will pass according to Artie’s will.  Artie’s executor sues the negligent driver, and recovers the following amounts: (1) $35K for medical expenses incurred by Artie; (2) $200K for Artie’s pain and suffering; and (3) $1M for Artie’s lost earning capacity.  What amounts are included in Artie’s gross estate under IRC 2033?  Recall the CT Bank case.  

a. Includable.  

b. Includable.  

c. The 2 months of lost wages are clearly a 2033 that get included in the estate.  

d. What about the wages the family will lose post death?  Is that included or not?  The wages attributable to the post-death wages don’t accrue until he is actually dead.  GCM 38053.  They seem to say that the post-death wages are not included in the gross estate.  

4. On December 31, 2004, Jennifer dies.  Which of the following items are includable in her gross estate under 2033?

a. J owned a life insurance policy on the life of her son, who is still living.  J has a 2033 interest in the policy.  

b. J’s employer owed J $5K for work she performed in Dec. ’04.  Absolutely includable.  

c. The social security benefits payable to J’s family.  No.  They didn’t exist until she died.  Rev. Rule 55-87 says so too.  She can’t control them before she died.  

d. What are the income tax consequences of (b)?  Income in respect of the decedent (IRD) is dealt with in 691 of the code.  It says “we are going to tax this income to the beneficiary when they receive it.”  It could have taken the position that the decedent will pay the tax, but they didn’t.  691 makes everything a little more simple.  How does it happen that IRD comes in over a period of years?  Example: let’s say I die with an IRA (which is not subject to income tax until I take money out of it when I retire).  But what happens when I die?  The money goes to my beneficiaries.  Now the money gets taxed as it leaves over years.  Someone would take the money out slowly so they wouldn’t be taxed so heavily.  The problem though is that there is a little estate tax problem lurking in the background of this.  Here is the problem.  After explaining this to the daughter, she might say it seems that her father’s estate was over-taxed for estate tax purposes.  Let’s say a salary was owed to her father… like $100.  It has to be included in his estate for estate tax purposes.  What would have happened if the father received it pre-death?  (Let’s assume the estate tax bracket is a flat 50%).  If he collected the money and put it in his bank account, he paid income tax on it before he died.  Let’s assume the 50% flat income tax (to make things simple).  His income tax liability would have been $50.  He would have had $50 in net assets.  So if he collected it in life, he would have only had to include in his gross estate $50.   But if he dies without doing all of this, his estate would be taxed for the full $100.  What do we do about this?  It seems unfair?  The code gives an income tax deduction to the daughter to compensate for this over taxation in the estate.  How much would the deduction be for?  691 gives the beneficiary an income tax deduction for the estate tax attributable to the IRD item.  This will even things out.  The daughter will get the same thing either way.  Will it always even out, or is it just the numbers?  Well, there will be perfect justice with these numbers.  In other cases, it won’t be perfect.  The most significant variable is that both were in the same tax bracket for their respective taxes.  The income tax bracket is critical.  In the 691 context, income earned by me can be taxable to my daughter, and this is usually not good because you can avoid higher brackets, but no one is going to game the system by dying.  

Definitions of Unitrust on the Web:

· A form of charitable remainder trust. A donor executes a charitable trust document and transfers ownership of property. The trustee of the trust invests the property. The donor (or an individual named by the donor) receives a fixed percentage of the trust’s value as income each year. The percentage must be at least 5%. The amount of income actually received depends upon the value of the trust as determined each year. ...
www.bw.edu/giving/glossary/ 

· The general term for a charitable remainder unitrust is a trust from which a fixed percentage, which is not less than 5% of the net fair market value of its assets, valued annually, is to be paid, not less often than annually, to one or more persons (at least one of which is not an organization described in IRC §170© and, in the case of individuals, only to an individual who is living at the time of the creation of the trust) for a term of years (not in excess of twenty years) or for the ...
www.ashland.edu/estate/glossary.html
Section 2036: if I transfer an asset inter vivos (we know that making that gift provides for fixation of value) and want to take advantage of fixation and also want to maintain some control of the asset, can something be fashioned to make me happy?  The stock can be put into a trust, and I retain the right to receive income from the trust. Can I do this?  Can I retain this string and still have fixation of value?  The answer the code gives us is no.  You cannot get fixation of value with this approach.  The code is saying that even if we dress this up to look like an inter vivos gift, but in substance it is testamentary.  The code says that fixation of value will be off the table in this case.  It says that in a case like this we are going to require the transferor to include the trust in his gross estate based on its worth at his date of death.  If the transferor had stock worth $1M and it was worth $100M at death, $100M is includable in his estate according to 2036.  The code treats it as a gift.  

Let’s say that when I created the trust, it was worth $1M and it is now worth $100M, but if you pour the adjusted taxable gift

The code defines adjusted taxable gift means taxable gifts made after Dec. 1st, 1976 other than gifts which are otherwise includable in the gross estate.  This is so the gift isn’t taxed at $101M because it is only supposed to be taxed at $100M.  

Always remember that the definition of estate may be different for estate purposes and for tax purposes. 

Lawyers worry about 2036 because if they fuck up the drafting of the trust, they can be sued.  There are some cases where you would want to trigger 2036 though.  For example, a lawyer might transfer a home in trust, but have the client retain the use of the trust and income of the trust and remainder to the kids.  If the home is worth $1M, we want 2036 to apply because we want the home to fall under 1014 which will put the home in the gross estate; I think and make the basis higher.  

There are two aspects to 2036

1. 2036(a)(1): you have a 2036(a)(1) transfer if you have the following

a. you have made a transfer and 
b. the decedent retained a string: 

i. The strings are one of two kinds: 

1. either the right to the income or 

2. The decedent still enjoying possession or enjoyment of the property transferred.  

c. The string has to be retained for one of three time periods: 

i. for the transferor’s life OR; 

ii. For a period not ascertainable without reference to the transferor’s death [this protects the for life rule.  People might play a game where they create the trust saying income to be to be paid to me at the end of each calendar quarter if I am alive on the last day of the quarter.  This provision was put in to protect the integrity of the for life provision] OR; 

iii. For a period that does not in fact end before the transferor’s death.  Let’s say I said in the instrument “income to me for 50 years, remainder to my daughter.”  If I die before the 50 years, 2036 applies.  If not, it doesn’t.  Any one of these three time periods gets you to inclusion.  

1. What is this string?  Let’s say that I give some rental property to my daughter, like you own it and rent it.  You give her the fee simple, so you retain no rights at all.  Every month, she sends me checks.  As a matter of state law, do I have a legally enforceable right to compel her to give me this money?  No, probably not.  Do I have a 2036(a) (1)?  The answer seems to be yes.  The lower courts seem to be uniform in saying the following.  What they say is that if there was an understanding between me and my daughter that I would receive the income, even if not legally enforceable, I have retained a string.  What if the understanding is implied?  The courts have said an implied understanding will also suffice.  “An interest or right is treated as having been retained or reserved if at the time of the transfer there was an understanding express or implied that the interest or right would later be conferred.”  Reg. 2036-1(a).  If it were only expressly conferred, it would be too easy to get around.  You see, the second prong is "possessing and enjoying"; so, this makes sense.  

d. If you qualify for a bona fide exception, you are out.  We will get to this with two cases.  

2. 2036(a)(2): 

Lindnor case: a parent makes a gift to his kids in the estate.  After he gives the gift, he continues to live on the property until he becomes incapacitated and requires nursing home care.  For the last year and a half of his life, he was in a nursing home.  The kids did not sell the house during that period either.  The court says that from these facts, it can infer that there was an implied understanding that he would be able to live there for the rest of his life.  (the IRS could have also prevailed if it showed there was an express understanding, even if it was not legally enforceable 2036(a)(1)).  The holding of this case exists because it is real hard to prove express understandings.  The Supreme Court has never tackled this issue.  “An interest or right is treated as having been retained if at the time of the transfer there is an understanding, express or implied.”  Reg. 2036-1(a).  

Rev. Rule 71-55: let’s say I transfer my house by deed outright to my wife, and the two of us after I transfer title, continue to live in the house, and then I die.  Do I have a 2036(a) (1)?  Is the house includable under 2036(a) (1)?  Did I retain possession and enjoyment?  This approach is qualified with respect to spouses.  The concern was that too many people make transfers of their homes to their spouses.  What they are saying, in the case of spouses, we are not going to invoke the implied understanding argument.  We will only include it if there is an express understanding.  In most cases, this is meaningless anyway because of tax-free transfers to spouses.  

Problem: let’s say I gift a house to my kids, and I rent it back from them.  The lease says I have the right to live there for ten years.  Let’s say the lease says I have to pay $1 per year.  Then I die after 5 years.  This is a 2036(a) (1).  I have a legally enforceable right to live there pursuant to the lease!  But now let’s talk about the Barlow case.  In Barlow, we have the same facts, but the rental amount was equal to the fair market value of the rental.  I haven’t retained something as valuable as living there for a dollar year.  The court here said if I have to pay fair market value, then in effect, I am not retaining possession, so 2036 doesn’t apply.  

Maxwell case: decedent had a home but sold it to his kids.  (Gans thinks that if you sell your house to your kids, and they give you what it is worth, but you also enter into a lease agreement where you pay fair rental value, you do not have a 2036(a)(1).  Why would you?  We saw the facts of Barlow).  Anyway, the parent in this case sold the house for a note instead of for cash.  The parent agreed to pay rent.  Substantively, nothing real happened.  Parent still lives there.  Kids still live there.  What the parent is looking for is fixation of value.  After the parent dies, the IRS comes in.  They hate this transaction.  They want to include this property in the gross estate.  The taxpayer obviously argues that this is an even better case than Barlow.  The IRS won!!!  2036 was invoked successfully.  Here are the facts that win the case for the IRS.  The notes that the kids gave the parent were not repaid; instead, the parent started discharging the note every year.  Each year the parent would say the kid didn’t have to pay this or that.  On parent’s death, the parent discharged the balance of the note.  One more important fact.  The rent the mother was paying equaled the interest the kids were paying on the note.  The second circuit held that 2036 applies here.  There was a 2 person dissent.  

Why do you think the parent was discharging the note year by year?  Let’s say I have a $100K that I give to my daughter, and I give her the deed, have I made a taxable gift?  Yes.  But if I sold the house for $100K, and take back a note and discharge $12K a year, it will be like giving nontaxable gifts, and my hope will be that the entire estate will be distributed.  (Starting Jan. 1st, the new annual exclusion is $11K).  Reg. 77-299 says that if there is a transaction like this, and the parent never had intent to be repaid, we will say that the note is not bona fide, and that the entire gift of $100K occurred at inception.  

In Maxwell, the court thinks this is what happened.  So I guess what the court is saying is that since there was no intent to enforce the note, the note was a sham.  The parent was in effect not charging rent.  Gans thinks it is a problem, however, that the decision should be made because the rent equals the interest.  This is what the dissent meant.  If the rent is fair.  Gans doesn’t know the scope of this case.  

What happens if I create a trust?  Trust assets can be used to discharge support obligations.  So let’s say I create a trust, and the trust instrument I have drafted says the trustee is to pay the income to my daughter.  Let’s further assume that my daughter is a minor, and I die while she is still a minor.  Where there is a support obligation, I have a state law obligation to support my daughter.  The question raised is “can I be viewed as having retained the right to the income from this trust on the theory that the income is being used to discharge my obligation to support my daughter?”  Reg. 2036-1(b) (2).  “D as decedent is deemed to have retained one of the strings if use, possession, right to the income, or other enjoyment is to be applied toward the discharge of a legal obligation of the decedent or otherwise for his pecuniary benefit.”  How do we apply the sentence in this regulation?  It isn’t terribly clear.  

Back to the hypo… we know the facts.  Why does it matter that I died while my daughter is a minor?  Because I am obligated to support her lapses at her turning 21.  We can assert that if I die after she reaches 21, there is no possibility of applying 2036 in my estate.  Gans has shifted gears slightly.  We started off wondering if there was a string.  The point is if I die after she turns 21, I will not have a 2036 because I will not satisfy the timing prong of 2036.  

But if I die before she turns 21, I have satisfied the timing prong.  Do I have a string though?  I will be deemed to have retained one of the strings if use, possession, right to the income, or other enjoyment is to be applied toward the discharge of a legal obligation of the decedent or otherwise for his pecuniary benefit.  If my support obligation has not been discharged under state law, then I have not retained a string.  Even though she is getting $500K from the trust, if she can still sue me to get support, then I have not retained any benefit from this trust.  Therefore, the courts have said that in a case like this, I have not retained a string, and the sentence from the regulation won’t apply.  

Richards case: In Richards, decedent made a trust that mandated trustees to distribute income to decedent’s wife (if we stopped here, it’d be the same as the first hypo), but this trust said “to decedent’s wife every year for her support.”  So why is this different than the last hypo?  The point here is that when you put the support language, most states will view it as discharging your support obligation under state law, and if that is the case, then you have a 2036(a)(1).  The court here said 2036(a) (1) was triggered here.  

Hypo: might sharpen up the Richards case.  Let’s assume that I gave $10M to my daughter outright.  Would anybody say that now that asset should be includable under my estate under 2036?  No.  Because she can still come back and ask for more support.  

Hypo: let’s say my trust instrument said “income to my daughter for her support as I, the grantor and trustee determine in my discretion.”  Prudowski case deals with this.  It was affirmed in the 7th Cir.  Have I retained the string?  The court said decedent retained a string because it is all up to the discretion of me.  
Mitchell case:  a third party is trustee, and he has discretion to give income for my daughter’s support.  Have I retained the string?  The court said decedent did not retain a string because it is all up to the discretion of a third party.  Can we have a 2036(a) (1) here?  If the instrument says “pay this to the beneficiary in the trustee’s discretion for support,” 

We will be dealing with cases where the person is the transferor and is the decedent.  Let’s look.  

1. one is where the grantor is the trustee

2. where another person is trustee

a. I created the trust, and I am the trustee, and I have discretion whether or not the trust can be paid to my daughter.  Let’s say the age of majority that I am obligated to pay for my kid is 21… if I die when she is 22, could I have a 2036(a)(1) versus if I die before she reaches the age of majority.  Let’s look at this easy, easy hypo: If I am a grantor, and I make a trust where I retain the income for 11 years, and I die within the 11 year period.  The point is that if you retain the trust for a period of time and in fact die within that time frame, you have a 2036(a) (1).  If I die after the retention term ends, I do not have a 2036(a) (1).  So now we can go back to the hypo we were doing (the Prudowski type hypo).  More Problems:

i. Prudowski: if the grantor dies before the child reaches majority, 2036(a) (1) applies.  
MITCHELL

Rev. Rule 2004-64 (cites Mitchell). 

· Let’s say that I name as a trustee a bank, and the bank has discretion as trustee to pay income or not pay income for my daughter’s support.  The only question that is interesting to us at this point is if I die before she reaches majority, so let’s assume I do.  Does 2036(a) (1) apply?  This is an INDEPENDENT TRUSTEE case.  Have I retained a string here if the trustee is independent?  Where you have an independent trustee, you have no retained a string.  Mitchell.  

· They go on to say in Mitchell that if the trustee were NOT independent, then maybe you have retained a string.  The court doesn’t do a lot for us in terms of helping us understand whether you have an independent trustee or not.  In Mitchell, however, the trustee was decedent’s sun.  They found that the son was independent!  Factor: does the grantor control the trustee?  How can we determine?  It would have been nice if the statute addressed this issue.  Maybe the distinction in Mitchell that the court is trying to make (which they did poorly) is much like the implied understanding notion we discussed earlier.  Gans wonders if the court could have analyzed this question under those terms instead.  

Facts of Prudowski: 

Some Law: this case involved Uniform Gifts to Minors Acts (UGMA).  The way in which you would create a gift to a minor (an easy way at least) would be to draft a trust for them.  This can lead to annoying problems.  UGMA makes it so you say you are opening an account as custodian for the benefit of this child pursuant to minor, the statute creates the trust more easily.  The statute also creates the terms of the trust.  There will be fiduciary duties imposed on the custodian.  

Facts: father puts some money into a custodial account for his child maybe utilizing the annual exclusion.  Every year he puts the annual exclusion into the account.  So maybe by the time the kid is 20, there is a lot of money.  The parent is thinking “nice, all this money is out of my estate now.  I have been utilizing my annual exclusion).  The person dies before the child reaches majority, and the IRS taxed the estate under 2036(a) (1).  (If the parent died after the kid reached majority, remember it wouldn’t have been a 2036(a) (1)).  The court’s logic is that the parents was using the money to discharge the his support obligation

Maybe if the parent named a third party as custodian, things would have been different.  Would it have been ok?  As long as the custodian was viewed as independent within the meaning of the Mitchell case.  It is hard in custodian cases for the court to rule that the person was not independent.  

UTMA: uniform transfers to minors act.  Section 14(c) of UTMA is troubled by Prudowski and says (New York has a version of this too in its state laws) that a custodian who makes distributions does not discharge the parents support obligation. 

So today in any state that applies UTMA, you would not get the same 2036(a) (1) analysis that you get under Prudowski.  

Naming someone else other than the grantor as custodian (like your spouse) makes it so there can be no 2036.  Under Mitchell, if the IRS argued that your wife was not an independent trustee, you would argue back that this is an UTMA account, and they are wrong under state law.  You will argue Mitchell is irrelevant because there was no ability on my wife’s part to discharge my support obligation.  

To protect yourself, it is smart to write that “no distributions hereunder shall have the effect of discharging the parent of its support obligations.”  

Paxton case: 

Let’s say I create a trust and name a trustee, and the trustee has discretion to distribute to me.  So I am the grantor, and the trustee can give me money.  I subsequently die, and the question is whether the corpus of my trust is includable under 2036.  Why would I want to create such a trust?  I’d want to do this because I’d be getting my assets out of my estate, and I’d get fixation from that AND I am going to be able to get the money back (like if I have a trustee who is friendly to me).  This would be perfect for me because I might be able to get fixation of value without giving up control.  Is there another reason why you’d want to create a trust like this?  This kind of trust has potential to be interesting in terms of creditor protection.  You see, if I put my assets into this trust and then they get sued for malpractice some years later, I can argue I have no money.  Fraudulent conveyance says that if I put my money after my creditors enter the scene, then it will be considered fraudulent.  But if I do it EARLY, then it might not be considered fraudulent.  The IRS comes into this case and says that this will be includable in the estate under 2036(a) (1).  The service made two arguments which were both accepted by the court.  

· The service argued that if there was an implied understanding, 2036(a) (1) will apply.  What suggests an implied understanding?  The decedent transferred all of his assets into the trust.  Doesn’t that look kind of shady?  The implied understanding argument can be defeated if you don’t put all your money in it.  

· OR As a matter of common law, where the facts as they are here, the creditors of the grantor can reach the trust assets as a right.  Look at restatement of trusts second, section 156.  Restatement (third) 160.  In NY, we follow the common law AND have a statute that embraces the common law rule.  

Based on these, the court says the grantor retained a string.  

Gans’ closest friend and frequent co-author came up with an idea.  He went to Alaska and created a trust industry.  He said to the state of Alaska “if you make your trust laws more friendly, I will bring you a lot of trust business.”  Alaska statute says that if you name an Alaskan bank as trustee and provide that Alaskan law governs, you now have an Alaskan trust.  He got Alaska to repeal the common law rule of self-settled trusts, trusts created for the benefit of the grantor.  Now in Alaska, if you create a self-settled trust (before creditors enter the scene), creditors can never ever touch it.  Make sure you keep sufficient assets in their pocket and yours.  So one knocks off one argument, and the other knocks off the other argument.  

Delaware copied Alaska.  Then other states started copying and repealing the common law rule.  

Example: (based on the Cain case).  Let’s say I have an asset like stock in exchange for a note.  Under the note, I am to receive a certain number of payments for like 10 years.  Then I die during the payment term.  Have I retained the right to the income from the property transferred?   

Why is it important to be concerned with this?  Well, let’s say the stock was worth $1,000,000 when I bought it.  The government knows it is worth a lot more when I die, so they want it all to be included in my estate.  Up to this point, whenever we have spoken of fixation of value, we said “you make a gift, and then you get fixation of value, and then you pay a gift tax.”  What is interesting about this transaction is that it creates the potential of creating fixation of value without paying the gift tax.  

In Cain, the court held that 2036 did not apply.  How did they get there?  How does 2036 not apply in this context?  Well, there is language from a footnote in the Supreme Court case of Fidelity/Philadelphia Trust Co. v. Smith that the court cites in Cain.  The footnote says that the court doesn’t think 2036 is implicated (in other words, they don’t think a string has been retained) if the promise to make the payments is a personal obligation of the purchaser, and the obligation is not chargeable to the transferred property.  In other words, the seller can go after the buyer to get his payments.  Also, the payments that the seller is receiving is not dependent on the income the property sold creates.  When these elements are present, it feels more like the property has been sold instead of a right being retained.  

Rev. Rule 77-193 concedes that this kind of transaction is allowed.  

A more cutting edge type of transaction comes out of this though.  A client walks in to my office and wants to get fixation of value, and he doesn’t want to pay gift tax.  There is a way to do that and avoid 2036, and we just went over it.  What is the weak link in the strategy though?  

Problem: If I sell the asset to my daughter, and my basis is very low, then I have this big gain to pay for income tax purposes.  The client won’t be happy about that.  Then I will even have to say to the client “if you simply held on to the asset until you die, what would be the consequence?”  There would be no consequence; the gain would disappear, and my children’s basis in the asset would be the value at the date of death.  You beat the income tax (1014).  The income tax here is a backup, so that taxpayers cannot manipulate their way through this, BUT there is a way to defeat the income tax.  Gans thinks the government messed up here.  

How about if I sell the asset to a trust for the benefit of my daughter?  If I draft the trust properly, and I make it fall within the grantor trust provisions, and now I sell the asset to the grantor’s trust, the transactions are disregarded for income tax purposes.  Bottom line, a sale to a grantor’s trust does not generate any income tax consequences to the grantor; there is no gain.  

Rev. Rule 85-13 is where the government gives themselves this major disservice.  85-13 allows you to negate the income tax AND negate the gift tax.  What the $#%@?

677 of the code says that if the grantor retains the right to the income, it is a grantor trust.  That sounds like a string!  There is an overlap between income tax and estate tax here.  

Problem: let’s say I sell the asset to the trust that has no other assets, what will the IRS argue?  The IRS will argue that all the above authorities are distinguishable from this case because here, everything is dependent upon this asset.  You are only getting money back from the asset that was transferred into the trust.  PLR 9515039.  

In one case, the sale was to the daughter, the government didn’t argue 2036 (I think).  

In one case, the sale was to a trust, and the government argued 2036 because it was all dependent on the assets in the trust.  The service is aware of the problem of sales to grantor trusts.  How does the taxpayer get around the IRS arguing the 2036 here?  

1. Fund the trust with seed money before you do anything, so it is not sitting there without assets.  It seems like 10% of the trust value would suffice.  

2. Another way is to tell it to the grantor’s trust, and one of the kids in their individual capacity guarantees the trust’s obligation.  This works because you have created a personal obligation, and you’d hopefully be back within the Philadelphia language.  

Then you will be left with fixation and no tax.  And also no income tax consequence.  

The Grace case: the Supreme Court establishes the reciprocal trust doctrine in this case.  Here is what happens in Grace.  A taxpayer says “wouldn’t it be nice if I transfer assets to a trust, and my wife transfers assets into a trust, and we both retain the rights to our own respective assets”  Upon death, I have a clear (a)(1), and everything is included in my gross estate.  

What if we do the same thing, but the income goes to the other spouse.  This can defeat (a) (1).  The problem in Grace is that the spouses created the trusts 15 days apart.  The service was like “this is terrible.  You shouldn’t be able to do this.”  It goes up to the Supreme Court.  The court says that the wife’s trust where the husband was beneficiary will be included in husband’s gross estate under 2036(a) (1).  

Step transaction doctrine: a doctrine we see in the tax law, and it is very important.  It is not in any statute.  Courtholding is a case where it came up.  Here is how the doctrine goes.  

In a 10th cir. Case Heyan, the donor wanted to make annual exclusion gifts to his daughter.  At the time, it was $10K.  The donor made 29 checks for $10K to 29 people.  27 people made checks to his daughter almost immediately.  The court held that the two steps here were integrated into a whole.  The court chose not to respect the form the donor chose of giving the gift to the middle man first.  In substance, this is a gift to the daughter.  The theory of this case makes Grace make sense.  They just held substance over form.  The court in Grace for some reason spoke of interrelated trusts.  But use the step transaction to defeat these sneaky deals.  

In Grace: 

The court did not give us a definition of interrelated.  (The trusts were created at approximately the same time, and they were substantially identical).  

The court has said that even if the taxpayer argues that they didn’t do it to avoid tax liability, it doesn’t matter!

The court has also said that if the trusts were quid pro quo, and you argue it, they don’t care.  

TC Memo 1983-453.  In Levy, the wife and husband did a Grace type transaction on the same day!  Husband created a trust to wife where he gave her power of appointment and if she didn’t appoint, then to kids.  The wife created a trust to husband then children.  The court here said Grace didn’t apply because the trusts were sufficiently different!  How did we get into this trouble?  Because the Grace court was loose with its definition of interrelated trusts.  Grace should have mentioned the step transaction doctrine.  Levy is a problematic decision.  

The O’Malley case: this gets us involved in 2036(a) (2) for the first time.  What is 2036(a) (2) about?  It is the same as (a) (1) except the nature of the string is different.  In (a)(1), the grantor is getting something back, and in (a)(2), the grantor is not; he or she is simply maintaining the benefit to designate who will enjoy the income or who gets it.  It is enough of a string to burn me with a 2036(a) (2) inclusion.  This is one of the two big cases on 2036(a) (2).  

Facts: decedent had created a trust for the benefit of his wife and daughters.  The terms of the trust provide that income would be paid to the wife or daughters or accumulated as the trustees may determine from time to time in their sole discretion.  

The grantor here is trustee, and as trustee, he can determine who gets what.  This ability to determine who gets the income is a 2036(a) (2). He made a transfer; he retained a string; and he did for a time period.  In this case, in fact, the grantor was not the sole trustee.  He was one of three trustees.  If the grantor has the right by him or her self or even he does in conjunction with others, we view the grantor as having the power.  So in this case, the Supreme Court holds that 2036(a) (2) applies.  

What is the consequence of this?  The court doesn’t make this clear, but let’s say state law says that the trusts must all be unanimous in determining what happens to the trust assets.  The point is even if the trustee must act in unanimity, 2036(a) (2) still applies.  If one trustee comes in and what to do something with his money, the other trustees will be deferential because it was in fact his money, and maybe that is the premise behind this holding.  


Hypo: let’s say that husband creates a trust with income to W; however, if the trustees should decide to give the income to C (the kids), then they can in any year they decide to.  

1. If the wife is the sole trustee, does 2036(a) (2) apply?  No, because he didn’t retain the string.  

2. Let’s say that his two trustees are H and W?  W is not likely to give her consent lightly.  The statute doesn’t answer this hypo, but the regulation says “in conjunction with anybody means in conjunction with ANYBODY even someone with an adverse interest.”  So even if I need my wife’s consent to take away her income and give it to the kids, the grantor is still deemed to hold the power/the right, and therefore 2036(a) (2) applies.  

3. If I just made my wife the trustee, I wouldn’t have a 2036(a) (2).  

The Byrom case: the most important case in the Supreme Court on 2036(a) (2).  (QUICK REVIEW) Remember the elements of a 2036(a) (2) are the retention of a string (the right to designate who will enjoy the income from the property) and the time periods are the same as from (a) (1).  The bona fide exception is inapplicable.  The major difference between (a)(1) and (a)(2) is that in (a)(2) the transferor has some beneficial interest in the property, but in the (a)(2) situation, the transferor does not get anything out as a beneficiary but merely has control of what beneficiary may control.  

What about this case?  What if the grantor names someone trustee and the grantor is not himself or herself the trustee.  Has the grantor retained the right to designate who will enjoy the income from the property?  We do not have a 2036(a) (2) because the grantor has not retained anything.  There is only a slight difference between O’Malley and this case.  Gans thinks that you might even name your wife as trustee, and this shouldn’t even be a 2036(a) (2).  

Do you think the trustees in O’Malley might have been subjected to suit under state law for the way in which they exercised their discretion?  Are there going to be some limits on what the trustees can do in O’Malley, or do you think they can do whatever they want?  The language is “in the sole and absolute discretion of the trustee.”  In terms of abusing discretion, the restatement of trusts deals with this question.  There will still be a fiduciary constraint on the trustees.  Gans doesn’t think you can eliminate this fiduciary duty no matter what.  When this language is used, the person who created this trust is going to have to really fuck up to be liable.  

The ascertainable standard exception: Rev. Rule 73-143 embraces the Jennings case, which says the following.  Let’s say we have the O’Malley facts.  But let’s go back and redraft the trust using (instead of the sole discretion language) “the distribution shall be made in the sole discretion of the trustees based upon the health needs of the beneficiary.”  We have added in a standard.  In the O’Malley facts, there was no standard.  All we had was discretion, but no constraining standard.  What is the effect under state law of imposing this addition?  It narrows down the trustee’s discretion.  We now have a support standard.  Gans thinks a court might be more inclined to jump in and constraint the trustee because now the court has a standard by which to measure.  If the trustee gives out $10M, but the beneficiary only need $100K, the court can step in.  If the trustee gives nothing when the beneficiary needs $100K, then the beneficiary can sue.  Once you put one of these standards in there, you have narrowed down the scope of discretion by the trustee.  Jennings v. Smith; Rev Rule 73-143.  These say that where you have an ascertainable standard in the instrument like this, 2036(a) (2) does not apply.  

Example: let’s say that I create a trust, and I say “income to my son as I determine in my sole discretion is appropriate for their support needs.”  Do I have a 2036(a) (2) when I die?  NO, the ascertainable standard exception takes me out.  So if you know what you are doing, you can defeat (a) (2) really easily!  It is kind of a malpractice trap.  This is such an important exception, and it is neither in the statute or the regulation.  

The contours of this exception are unclear.  Health, education, maintenance, and support will always work though.  HEMS.  So if you use one these, you will get the exception.  You need to ask “does the instrument contain a standard that a state court would enforce?”  This seems to be the question of Jennings and the regulation.  That is a tough question.  What kind of standard does a state court enforce?  Would it enforce happiness?  The key is to use a tried and true standard.  

So now to the Byrom case for real: Decedent had stock in a closely held business, and he transfers the stock into a trust, and he retains the right to vote the transferred stock, so he doesn’t have any beneficial right.  All he has is control.  He also retains the right under the instrument to veto the sale of the stock.  So if the trustee wanted to sell the stock, the grantor can say “no way!”  Also, the stock was from a corporation that grantor had voter control over.  He wanted to achieve fixation of value.  The grantor here was not trustee (meaning he couldn’t say who got the income).  The government makes the argument that decedent retained the right at issue because he could control who the directors would be, and if you could control the directors, you could control the flow of dividends.  In effect, the grantor can give the trust lots of income by opening the dividends flow or not.  In the IRS’ perspective, this is really like O’Malley.  The fact that grantor controlled dividends because of his ability to vote the stock was an important factor in triggering (a) (2).  The court rejects this argument and distinguishes this case from O’Malley.  Here is the distinction the majority gives us.  This is KEY!  The court says that the word “right” in (a) (2) has a certain meaning, and when we use the term “right” in a statute, we must mean a legally enforceable right.  The grantor must have a legally enforceable right under state law in order for us to trigger (a) (2).  This implies that you can have an (a) (1) without a legally enforceable right.  Now the court applies this standard.  Did D obtain a legally enforceable right?  The court said no.  Why not?  The court says you must take into account the constraint of fiduciary duties, and there are two kinds of fiduciary duties here:

1. the fiduciary duty imposed on corporate directors under state law.  

2. (? Missed it)

If the trustee dies or resigns, the grantor can then appoint himself as successor. In this case, 2036 still applies – because in the Regs it says that if the grantor’s A2 right is subject to a contingency, the grantor still has an a2 even if the contingency did not materialize before his death. 

Q) If you simply provide that under no circumstances can you become trustee – will that work??

A) Iffy 

Now – you cannot appoint a successor trustee who is related or subordinate (e.g. employee) to the grantor. In essence, this is a safe harbor – they will not come after you about there being a fraudulent action. Everybody who drafts trusts now uses this safe harbor. This is not really an E & G tax issue but it was the only place in the code that they felt they could hang their hat on. This will keep you out of 2036 a2 without raising the fraudulent problem that the IRS might otherwise raise.  

� SC reversed ruling of issuing judgment of wrongfully collected taxes contingent on taxpayer, Sanford, respondent, amending returns for past years (i.e. to now omit past deductions of related items of expenses paid in those years). SC said this ruling was not in 16th Amendment’s coverage, and such relief could only be afforded by legislation, not the courts.
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